Svenska Bridgeférbundet
Silver 1 IAF 2018-07-27

IMP o6ver faltet, 53 bord, 105 par. Antal brickor: 42.

Plac

Par

630
430
625
429
434
555
455
656
543
652
554
451
658
425
446
558
635
530
538
536
436
628
657
533
553
535
557
624
427
424
559
629
537
645
524
423
531
546
426
653
433
459
627
448
651
444
660
523
526
544
649
443
457
655
644
428
431
528
421
435
654
550
534
449
438
522
525
454
532
633
636
637
622
545
547
551
552
460
529
450
453
646
621
452
648

Poang

5386.0
3236.0
3218.0
2847.6
2681.0
2590.0
2553.0
2373.0
2330.0
2303.0
2296.0
2256.5
2256.0
22134
2022.3
2020.0
1812.0
1801.0
1780.0
1651.0
1614.0
1610.0
1573.0
1528.0
1339.0
1325.0
1314.0
1304.0
1228.5
1128.0
1126.0
1006.0
963.0
911.0
907.0
869.4
838.0
782.0
726.0
718.0
669.0
550.2
550.0
522.9
460.0
433.7
430.0
357.0
226.0
207.0
112.0
104.0
58.8
10.0
-25.0
-27.0
-37.8
-43.0
-60.9
-106.0
-165.0
-197.0
-231.0
-261.5
-298.0
-425.0
-496.0
-554.4
-558.0
-685.0
-706.0
-799.0
-904.0
-924.0
-995.0
-1081.0
-1098.0
-1105.7
-1112.0
-1289.4
-1302.0
-1388.0
-1440.0
-1674.8
-1683.0

Namn

Stefan Jonsson - Jan Gutenwik

Helena Stromberg - Dan Bylund

Daniel Eriksson - Malin Helin

Lars Hamberg - Ulla Ridderstad
Emanuel Unge - Linus Dahlstrém
Christina Ahl - Kjell Holmgren

Borje Rudenstal - Kim Lichtenstein
Mikael Arnberg - Géran Hammarstrom
Alexander Sandin - Bo Sundell

Krister Ahlesved - Niklas Warne

Mike Ash - CHRIS CHAMBERS

Henrik Sallberg - Tommy Bergdahl
Carina Sjoblom - Lennart Bylund

Hans Kvick - Ben Hayes

Magnus Eriksson - Christer Eriksson
Nils Ménsted - Rikke Christiansen
Jonas Engstrom - Eric Arvidsson

Peter Backstrand - Stefan Lilja

Urban Bjorklund - Per-Erik Jansson
Tommy Linder - Joakim Mdller

Kent Karlsson - Jimmy Herrdin

Maria Gronkvist - Catharina Ahlesved
Per Clarin - Torbjorn Gustavsson
Magnus Hultman - Joachim Borgel

Carl Engholm - Alf Sandberg

Per Jansson - Marcus Hjelte

Jan Selberg - Olle Wademark

Kristina Olsson-Soderhall - Hakan Lindstrom
Joakim Olsson - Terje Lie

Michael Claesson - Johan Noberius
Jerry Méhler - Ann Lidfors

PAUL GIPSON - Alex GIPSON

Jan Kamras - Viktor Andréasson

Erik Hansson - Castor Mann

Romuald Grudzinski - Kenneth Karlsson
Markus Bertheau - Fredrik Wahlberg
Johan Safsten - Ola Weinberg

Niels Krojgaard - L.P. Damgaard
Nicklas Widhja - Ulf Backman

Per-Ake Pettersson - Anders Pettersson
Sanna Clementsson - Klas Bellander
Bo Sundstrom - Andreas Westman
Sami Méaki - Marko Ketola

Ann-Sophie Andersson - Thomas Kvist
Lennart Ekholm - Christer Astrém

Dag A. Lie - Per Arild Kvist

Marten Gustawsson - Peter Flodgvist
Par OI-Mars - Bjorn Sorling

Hans-Olof Hallén - Magnus Wegestal
Pierre Carbonnier - Hakan Tjarnemo
Lars-Eije Svensson - Tomas Gustafsson
Goran Linerudt - Tommy Jansson
Bo-Henry Ek - Peter Nordén

Mikael Johansson - Britt-Marie Jacobson
Niklas Andrén - Martin Gardrup

Bilal Zafar - Reine Gustavsson

Bengt Nilsson - Leif Andersson

Joérgen Wallmon - Sven-Anders Eskilsson
Kent Maltein - Ted Olows

Einar Jorgenrud - Terje Andreas Pedersen
Michael Lemborn - Erik Gulliksson
Rose-Marie Jarl - Gunilla Ahlander
Kenneth Wallin - Pasi Kallio

Martti Meronen - Vesa Leinonen

Svein Naas Olsen - Bjarne Erlandsen
Ola Brandborn - Lennart Eriksson

Marie Gothberg - Anette Ekman

Lars Ericson - Bo Ericson

Mats Johansson - Kent Backstrom
Dejana Sverker - Bertil Blomqgvist

Tim van de Paverd - Oscar Nijssen
Per-Ake Jansson - Lars Lundgren
Ingemar Andersson - Christer Sandberg
Henrik Noberius - Bo Roos

Sture Johansson - Bjoérn Hackberg

UIf S&rnkvist - Ola Sarnkvist

Michael Runfors - Thorbjorn Fredriksson
Seymour Eriksson - Ake Lundkvist
Thomas Ekendahl - Barbara Ekendahl
Bengt Nilsson - Rolf Forsberg

Gun Réhnisch - Claus Réhnisch

Bo Stanley - Rolf Selander

Villy Havasi - Agneta Svenberg

Alf Putzen - Tommy Rydberg

Suzanne Lemborn - Tommi Ramstedt

MID

13697
12565
24659
3696
49509
3140
2336
24686
41730
13995
+790
29785
3382
2878
1170
+1118
11389
13838
9496
13938
4155
1076
10538
14044
9773
12635
11074
8166
80478
656
12554
+1083
85968
53648
46038
57666
35452
+634
25146
9960
55629
3723
+952
39116
50946
+905
8699
5342
9896
5538
14309
15037
2381
50525
1623
59699
10267
15095
15967
+1116
1215
10408
1597
+238
+795
13092
19806
12536
15014
50940
+986
2714
5871
79008
37148
9415
10344
57716
17307
18043
10595
11020
89205
45860
14984

6302
8223
30933
25973
44253
3368
11826
11426
3413
15344
+1082
2181
8234
6654
9292
+1096
16417
20858
2974
33431
81411
7124
1255
4050
2123
84282
14800
12472
5024
655
13773
+1084
89902
58464
625
20396
94278
+693
82648
26053
4541
23603
+924
52995
38022
+1117
14778
80438
91149
5534
1394
8415
7833
13550
36202
6934
8923
14182
8281
+414
24169
10390
4029
+982
+781
9020
8987
2962
11196
7823
+985
10275
15867
13691
23530
80001
45513
57541
52284
13471
4081
7824
26779
45857
51783

Klubb

Skara BS - Malmé BK
Sundsvallsbridgen

Gévle BK

BK Opalen

BK S:t Erik - Lunds BK
Gévle BK - Bollnas BK

BK S:t Erik

Filbyter Bridge
Storsjobygdens BK
Uppsalabridgen

Scotland

Séllskapet, Ronneby - Uppsalabridgen
Sundsvallsbridgen
Uppsalabridgen - BK S:t Erik
Harplinge BK - Uppsalabridgen
Danmark

LudvikaBygdens BK

BK Opalen

Gévle BK

Norsjo BK - Uppsalabridgen
ABK Singelton, Askersund
Orebridgen

BK S:t Erik

Lindesbergs BS
Uppsalabridgen

Alnd BK - Uppsalabridgen
Norrorts Bridge

Skutskars BK - Géavle BK
Bohus Nations BS - BK Falkenberg
Hovmantorps BK

Sollefted BK

BK S:t Erik - Hassleholms BK
BK S:t Erik

Malungs BK

BK S:t Erik

Uppsalabridgen - BK S:t Erik
Danmark

BK Opalen - Laholms BK
Uppsalabridgen - BK S:t Erik
Lunds BK - Malmé BK
Sydjamten - Orebridgen
Finland

Rimbo BK - Norrorts Bridge
ABB BK

Norge

BK S:t Erik

BK S:t Erik - Skara BS
Malmé BK

LUCK

Motala Bridgeallians
Lindesbergs BS - Orebridgen
Orebridgen

Alvsby BK

Lunds BK - Malmé BK

BK Opalen

Ho6rs BK - Genarps BK
Varnamo BK

Gavle BK - Storsjobygdens BK
Norge

Karlstads BK - Gavle BK
Varnamo BK

Orebridgen

Finland

Norge

BK S:t Erik

Orebridgen - BK S:t Erik
Gavle BK

Uppsalabridgen - Alnd BK
Orebridgen

Netherlands

Smedstadens BK - Arboga BK
Solvesborgs BK

Skara BS

Kumla BS

Akers BK

Orebridgen - Nora BK

BK S:t Erik - Orebridgen
Smedstadens BK

ABB BK

Orebridgen

Orebridgen

BK Albrekts

BK Opalen

Karlstads BK - Lindesbergs BS
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86 659 -1731.0 Simon Bech - Kathrine Bertheau 87173 81089 BK S:t Erik - Filbyter Bridge
87 626 -1831.0 Elisabeth Olsson - Kerstin Edwall 42078 47140 AsalFrilles&s BK - Kungsbacka BS
88 560 -1896.0 Per Soderberg - Andreas Abragi 18380 58640 Norrorts Bridge - BK S:t Erik
89 456 -1934.1 Mikael Westerlund - Tomas Bérgesson 9690 1073 BK Everfresh - ABB BK
90 549 -2034.0 Mikael Alexandersson - Bjorn Odden 16748 +1119 BK Opalen - Norge
91 647 -2092.0 Tommy Hagstrom - Erik Franzén 9775 76 Uppsalabridgen - Hedemora BS
92 521 -2118.0 Teo Bodin - Hjalmar Sandblom 36833 59323 Karlstads BK - BK S:t Erik
93 650 -2124.0 Sten Oman - Hans Brolin 10766 7596 Boras BA
94 632 -2314.0 Torbjorn Graslund - Micael Blomdahl 83473 81988 BK S:t Erik
95 432 -2344.0 Bjorn Westling - Bengt Alrud 1666 4373 Boras BA
96 631 -2560.0 Hans Eriksson - Matti Lepistd 4844 14649 Partille/MoInlycke BK - Frélunda BS
97 634 -2581.0 Leif Lundberg - Emma Karlsson 20271 58290 Luled BK
98 445 -2593.0 Tomas Hellgren - Anders Lindback 40239 40240 Karlskoga BK
99 458 -2717.4  Christer Swenson - Stig Andersson 1859 10353 Skdvde BA
100 623 -2848.0 Lennart Karlsson - Gun Karlsson 1196 1201  Filbyter Bridge
101 548 -2898.0 Krister Collberg - Anders Vikdahl 17982 9537  Akers BK - Strangnas BK Gripen
102 447 -3414.6 Karola Hogberg - Lars Lilja 17222 4118 Lindesbergs BS
103 556 -4260.0 Birgitta Radberg - Stefan Westlund 17276 13174 Gavle BK
104 527 -4702.0 Ann-Kristin Hultgren - Henry Alfredsson 19069 17429 BK Opalen
105 422 -5746.0 Ann-Britt Carlén - Yvonne Flodqvist 88227 14805 BK S:tErik
1 483 Basta kontrakt 2 « ED6 Basta kontrakt
Nord vE7532 44 O D -2 300 Ost v 765 3NT O =-400
Ingen ¢ K1053 NS + KD108
+K9 & ¢ v & NT #KKn5 % ¢ v & NT
4972 4 KDKn654 N 7 10105 6 4 KKn104 493 N3 7664
vD84 v 106 S 7 10105 6 vE93 v KKn4 S3766 4
¢+ E9 742 06 3284 ¢ E53 ¢ 42 O 105 7 7 9
#Kn10632 #E5 V63338414 #1093 #ED8642 V 105 6 7 9
«E10 48752
v KKn9 vD1082
¢ DKn86 + Kn976
D874 *7
Par Kontr ut Res Poang Par Kontr ut Res Poang
435 446 4v N= oK 420 432.0 -432.0| 435 446 5% 0-2 v7 100 327.0 -327.0
547 534 4v N= oK 420 432.0 -432.0| 549 532 3NV-2 +K 100 327.0 -327.0
553 528 4y N= &A 420 432.0 -432.0 424 457 3NO-1 +K 50 266.0 -266.0
554 527 4v N= oK 420 432.0 -432.0| 425 456 3NV-1 +K 50 266.0 -266.0
654 629 4v N= oK 420 432.0 -432.0| 449 432 3NV-1 v7 50 266.0 -266.0
657 626 4y N= &A 420 432.0 -432.0| 454 427 3NV-1 +K 50 266.0 -266.0
545 536 3v N+1 oK 170 169.0 -169.0 | 455 426 3NO-1 ¢7 50 266.0 -266.0
632 651 3v N+1 *A 170 169.0 -169.0| 531 550 3#V-1 +K 50 266.0 -266.0
636 647 3y N= &K 140 135.0 -135.0( 559 522 24 O-1 &7 50 266.0 -266.0
425 456 3¢ N= oK 110 93.0 -93.0| 625 658 3NV-1 +K 50 266.0 -266.0
443 438 44DO-1 v9 100 83.0 -83.0 652 631 44V-1 +K 50 266.0 -266.0
535 546 44DO-1 v9 100 83.0 -83.0( 630 653 2¢ N-1 49 -100 80.0 -80.0
543 538 44DO-1 v9 100 83.0 -83.0| 423 458 24 O +1 v38 -110 78.0 -78.0
555 526 44 O-2 +Q 100 83.0 -83.0| 529 552 2&V+1 +K -110 78.0 -78.0
630 653 44DO-1 v9 100 83.0 -83.0 543 538 2# 0O +1 v8 -110 78.0 -78.0
422 459 34 O-1 +Q 50 11.0 -11.0| 545 536 34 0= +K -110 78.0 -78.0
431 450 34 O-1 +Q 50 11.0 -11.0| 547 534 3&V= +K -110 78.0 -78.0
445 436 44 O-1 v9 50 11.0 -11.0| 560 521 3&V= +K -110 78.0 -78.0
451 430 34 O-1 +Q 50 11.0 -11.0| 621 623 24 O +1 v8 -110 78.0 -78.0
453 428 34 O-1 s A 50 11.0 -11.0| 645 644 34 0= a5 -110 78.0 -78.0
455 426 34 O-1 vK 50 11.0 -11.0| 657 626 2&V +1 +K -110 78.0 -78.0
460 421 34 O-1 +Q 50 11.0 -11.0| 660 622 34 0= ¢7 -110 78.0 -78.0
524 557 34 O-1 +Q 50 11.0 -11.0| 429 452 340 +1 v2 -130 42.0 -42.0
531 550 34 O-1 +Q 50 11.0 -11.0| 431 450 2&V +2 +K -130 42.0 -42.0
548 533 44 O-1 v9 50 11.0 -11.0| 453 428 24 O +2 v38 -130 42.0 -42.0
621 623 34 O-1 vK 50 11.0 -11.0| 523 558 3&V+1 +K -130 42.0 -42.0
648 635 34 O-1 +Q 50 11.0 -11.0| 524 557 34 O +1 v2 -130 42.0 -42.0
650 633 34 O-1 v9 50 11.0 -11.0| 544 537 3&V+1 +K -130 42.0 -42.0
424 457 4v N-1 oK -50 -117.0 117.0| 554 527 34O +1 +6 -130 42.0 -42.0
429 452 4y N-1 &K -50 -117.0 117.0| 556 525 3#V +1 v5 -130 42.0 -42.0
447 434 4v N-1 oK -50 -117.0 117.0| 632 651 2& Q+2 a5 -130 42.0 -42.0
448 433 4v N-1 oK -50 -117.0 117.0| 646 637 34 QO +1 a5 -130 42.0 -42.0
454 427 4y N-1 &K -50 -117.0 117.0| 649 634 34O +1 v8 -130 42.0 -42.0
523 558 4v N-1 oK -50 -117.0 117.0| 656 627 3& O +1 ¢7 -130 42.0 -42.0
544 537 4v N-1 oK -50 -117.0 117.0| 548 533 2NV +1 +K -150 13.0 -13.0
556 525 4y N-1 &K -50 -117.0 117.0| 553 528 2# O +3 v8 -150 13.0 -13.0
559 522 4v N-1 oK -50 -117.0 117.0| 624 659 INDN-1 *4 -200 -53.0 53.0
560 521 4v N-1 aK -50 -117.0 117.0| 650 633 3v S-2 &T -200 -53.0 53.0
625 658 4y N-1 &K -50 -117.0 117.0| 443 438 3NN-4 »2 -400 -285.0 285.0
645 644 4v N-1 oK -50 -117.0 117.0| 448 433 3NV= +K -400 -285.0 285.0
649 634 5v N-1 aK -50 -117.0 117.0| 451 430 3NN-4 *6 -400 -285.0 285.0
652 631 4y N-1 &K -50 -117.0 117.0| 460 421 3NO= 48 -400 -285.0 285.0
655 628 4v N-1 oK -50 -117.0 117.0| 535 546 3NV= +K -400 -285.0 285.0
449 432 24 O= *4 -110 -194.0 194.0| 551 530 3NV= +K -400 -285.0 285.0
529 552 24 O= +Q -110 -194.0 194.0| 555 526 3NV= +K -400 -285.0 285.0
549 532 24 O= +Q -110 -194.0 1940 636 647 3NV= +K -400 -285.0 285.0
646 637 24 O= +Q -110 -194.0 194.0| 648 635 3NV= +K -400 -285.0 285.0
423 458 34 O = v9 -140 -237.0 237.0| 655 628 3NV= +K -400 -285.0 285.0
551 530 34 O= ¢ A -140 -237.0 237.0| 445 436 3N O +2 v2 -460 -349.0 349.0
624 659 34 O= v9 -140 -237.0 237.0| 654 629 3NV +2 +K -460 -349.0 349.0
656 627 34 O= v9 -140 -237.0 237.0| 422 459 1INDN -2 &4 -500 -392.0 392.0
660 622 34 O= +Q -140 -237.0 237.0| 447 434 INDN-2 *4 -500 -392.0 392.0
444 - 10.3 444 - 10.3
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3 4 DKn Basta kontrakt 4 4105 Basta kontrakt
Syd v 9854 34 V =-140 Vast v D854 5¢v O =-650
oV ¢ D94 Alla 4984
#ED105 & ¢ v & NT *E764 & ¢ v & NT
«E8742 4 K965 N8 7 6 35 «DKn62 «E8 N36 254
vKD76 v102 S87 745 v10 v EKKn9763 S36254
+Kn83 ¢ EG65 0556 96 ¢E762 +Kn 09 6 117 8
*7 +Kn864 V556896 #KD102 #Kn85 V96 107 8
103 &« K9743
v EKn3 v2
¢ K1072 ¢+ KD1053
#K932 #93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
647 634 34 0-2 v3 200 359.0 -359.0| 536 547 3NV-2 aT 200 651.0 -651.0
645 636 2N S= a2 120 279.0 -279.0| 555 528 6v O-1 ¢+K 100 624.0 -624.0
648 633 INN+1 *6 120 279.0 -279.0 | 424 458 2v O +2 ¢+K -170 477.0 -477.0
557 526 INN-= vT 90 246.0 -246.0 | 421 427 4v O= +K -620 4.0 -4.0
660 621 INS= a4 90 246.0 -246.0 | 430 453 4v V= ¢+K -620 4.0 -4.0
426 456 Pass 143.0 -143.0| 455 428 4v O= ¢+K -620 4.0 -4.0
430 453 Pass 143.0 -143.0| 530 553 4v O= +K -620 4.0 -4.0
436 447 Pass 143.0 -143.0| 532 551 4v O= +Q -620 4.0 -4.0
452 431 Pass 143.0 -143.0| 544 543 4v O= +K -620 4.0 -4.0
455 428 Pass 143.0 -143.0| 546 537 4v O= *9 -620 4.0 -4.0
524 559 Pass 143.0 -143.0| 552 531 4v O= *9 -620 4.0 -4.0
536 547 Pass 143.0 -143.0| 554 529 4v O= ¢+K -620 4.0 -4.0
552 531 Pass 143.0 -143.0| 556 527 4v O= +K -620 4.0 -4.0
555 528 Pass 143.0 -143.0| 557 526 4v O= ¢+K -620 4.0 -4.0
631 650 Pass 143.0 -143.0| 560 522 4v V= aT -620 4.0 -4.0
424 458 INS-1 a2 -50 65.0 -65.0 631 650 4y O= 29 -620 4.0 -4.0
460 422 3# N-1 46 -50 65.0 -65.0 635 646 4y O= ¢+K -620 4.0 -4.0
545 538 INS-1 Ly -50 65.0 -65.0 644 637 4y O= ¢+K -620 4.0 -4.0
546 537 3#S-1 *7 -50 65.0 -65.0 645 636 4y O= +K -620 4.0 -4.0
554 529 3#S-1 s A -50 65.0 -65.0 647 634 4y O= ¢+K -620 4.0 -4.0
654 627 3#S-1 vK -50 65.0 -65.0 654 627 4y O= +Q -620 4.0 -4.0
656 625 3#S-1 +3 -50 65.0 -65.0 423 459 4y O+1 +K -650 -46.0 46.0
423 459 1INS-2 46 -100 -5.0 50| 425 457 4v O+1 +K -650 -46.0 46.0
444 443 44 S -2 v7 -100 -5.0 5.0 426 456 4v O +1 ¢+K -650 -46.0 46.0
556 527 2NS-2 a4 -100 -5.0 50| 432 451 5v 0= +K -650 -46.0 46.0
644 637 INS-2 a5 -100 -5.0 50| 444 443 4v O+1 +K -650 -46.0 46.0
649 632 3#S-2 s A -100 -5.0 5.0 445 438 4v O+1 +K -650 -46.0 46.0
653 628 3#S-2 vK -100 -5.0 5.0| 448 435 4v V+1 aT -650 -46.0 46.0
425 457 34 V= v5 -140 -61.0 61.0| 449 434 4v O+1 ¢+K -650 -46.0 46.0
521 523 24 O+1 v2 -140 -61.0 61.0| 450 433 4v O+1 ¢+K -650 -46.0 46.0
525 558 24 O+1 2 -140 -61.0 61.0| 452 431 4v O+1 +K -650 -46.0 46.0
544 543 34 O= *7 -140 -61.0 61.0| 454 429 4v O+1 ¢+K -650 -46.0 46.0
548 535 34 V= ¢4 -140 -61.0 61.0| 460 422 4v O+1 +K -650 -46.0 46.0
550 533 24 V+1 aT -140 -61.0 610 521 523 4v O+1 *9 -650 -46.0 46.0
635 646 34 V= LY6) -140 -61.0 61.0| 524 559 4v O+1 ¢+K -650 -46.0 46.0
421 427 4v N-3 46 -150 -69.0 69.0| 525 558 4v O+1 ¢+K -650 -46.0 46.0
448 435 2N S-3 a2 -150 -69.0 69.0| 545 538 4v O+1 *9 -650 -46.0 46.0
549 534 4v N-3 46 -150 -69.0 69.0 548 535 4v O+1 +K -650 -46.0 46.0
623 658 2N S-3 a2 -150 -69.0 69.0| 549 534 4v O+1 *9 -650 -46.0 46.0
624 657 3¢ S-3 &7 -150 -69.0 69.0| 550 533 4v V+1 +K -650 -46.0 46.0
659 622 4v S-3 +3 -150 -69.0 69.0 623 658 4v O+1 +K -650 -46.0 46.0
449 434 34 V+1 v4 -170 -101.0 101.0| 624 657 4y O+1 *9 -650 -46.0 46.0
450 433 34 V+1 ¢+4 -170 -101.0 101.0| 629 652 4y O+1 +Q -650 -46.0 46.0
454 429 34 V+1 ] -170 -101.0 101.0| 648 633 4y O+1 +K -650 -46.0 46.0
530 553 24 V+2 v5 -170 -101.0 101.0| 649 632 4y O+1 ¢+K -650 -46.0 46.0
532 551 24 V+2 v5 -170 -101.0 101.0| 651 630 4y O+1 *9 -650 -46.0 46.0
560 522 34 V+1 v5 -170 -101.0 101.0| 653 628 4y O+1 +K -650 -46.0 46.0
629 652 34 V+1 v9 -170 -101.0 101.0| 656 625 4v O +1 ¢+K -650 -46.0 46.0
651 630 34 O+1 43 -170 -101.0 101.0| 659 622 4y O+1 +K -650 -46.0 46.0
432 451 44D N-3 vT -500 -448.0 448.0| 660 621 4v O+1 +K -650 -46.0 46.0
445 438 44 V= *A -620 -531.0 531.0( 655 626 3NV +2 *4 -660 -46.0 46.0
655 626 24DV +1 +Q -870 -636.0 636.0 436 447 4vDO+1 +K -990 -444.0 444.0
446 - 48.2 446 - 48.2
5 « EKD8 Basta kontrakt 6 « EK1083 Basta kontrakt
Nord v EKD103 74 N =2210 Ost v 102 3¢ O =-110
NS 410983 oV 4 965
»- % ¢ v & NT D93 % ¢ v & NT
» 1095 464 N 8 12101311 «D7642 «Kn9 N6 4556
vKn v 9876542 S 8 12101311 vE3 v KD96 S 6466 6
+ D62 ¢+ Kn4 041301 ¢E + K108743 o797 77
#KKn7532 #D6 V41301 #K10652 #Kn v7977717
«Kn732 a5
v- vKn8754
¢ EK75 ¢ DKn2
*E10984 *E874
Par Kontr ut Res Poang Par Kontr Ut Res Poang
533 552 74 S= 46 2210 677.0 -677.0| 526 559 44DV-3 vT 800 634.0 -634.0
557 528 74 S= vJ 2210 677.0 -677.0| 533 552 44DV-3 vT 800 634.0 -634.0
627 621 74 N= v2 2210 677.0 -677.0| 632 655 44DV -3 vT 800 634.0 -634.0
648 645 74 N= 3 2210 677.0 -677.0| 424 459 5¢DO-2 5 500 458.0 -458.0
644 649 5vDO-8 +K 2000 573.0 -573.0| 654 633 34DV-2 vT 500 458.0 -458.0
453 432 64DS= vJ 1660 338.0 -338.0| 453 432 44 V-3 vT 300 291.0 -291.0
550 535 64DN-= *2 1660 338.0 -338.0| 525 521 44 V-3 vT 300 291.0 -291.0
545 544 64 S+1 vJ 1460 142.0 -142.0| 658 629 3NV-3 3 300 291.0 -291.0
656 631 64 S+1 a5 1460 142.0 -142.0| 421 429 4¢ O-2 a5 200 185.0 -185.0
653 634 6NN-= v9 1440 106.0 -106.0 | 427 456 24DV -1 vT 200 185.0 -185.0
426 457 64 N= v4 1430 106.0 -106.0| 433 452 2NO-2 v4 200 185.0 -185.0
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427 456 64 N= v3 1430 106.0 -106.0 | 449 436 34 V-2 vT 200 185.0 -185.0
431 454 64 N= v9 1430 106.0 -106.0| 545 544 3¢DO-1 a5 200 185.0 -185.0
433 452 64 N= v9 1430 106.0 -106.0 556 529 3NO-2 va 200 185.0 -185.0
447 438 64 S= T 1430 106.0 -106.0| 558 527 24DV-1 vT 200 185.0 -185.0
449 436 64 S= vJ 1430 106.0 -106.0 | 623 625 3NV -2 a3 200 185.0 -185.0
450 435 64 S= ¢2 1430 106.0 -106.0( 626 622 3NO-2 v5 200 185.0 -185.0
451 434 64 N= &3 1430 106.0 -106.0 627 621 3NO-2 v4 200 185.0 -185.0
455 430 64 S= vJ 1430 106.0 -106.0 | 422 428 24 V-1 &3 100 74.0 -74.0
522 524 64 S= vJ 1430 106.0 -106.0 ( 450 435 24 V-1 aA 100 74.0 -74.0
526 559 64 N= v9 1430 106.0 -106.0( 455 430 3¢ O-1 v4 100 74.0 -74.0
531 554 64 S= vJ 1430 106.0 -106.0 522 524 3NO-1 v4 100 74.0 -74.0
537 548 64 S= vJ 1430 106.0 -106.0( 555 530 2NV-1 vT 100 74.0 -74.0
546 543 64 S= *2 1430 106.0 -106.0 557 528 3NO-1 +6 100 74.0 -74.0
547 538 64 S= vJ 1430 106.0 -106.0 644 649 24 V-1 vT 100 74.0 -74.0
549 536 64 S= vJ 1430 106.0 -106.0( 647 646 24 V-1 vT 100 74.0 -74.0
551 534 64 N= L o) 1430 106.0 -106.0( 651 636 3NO-1 45 100 74.0 -74.0
553 532 64 N= v6 1430 106.0 -106.0| 653 634 24 V-1 vT 100 74.0 -74.0
556 529 64 S= vJ 1430 106.0 -106.0( 425 458 INO= v7 -90 -121.0 121.0
558 527 64 S= vJ 1430 106.0 -106.0( 659 628 2¢ O= &2 -90 -121.0 121.0
560 523 64 S= +2 1430 106.0 -106.0 | 460 423 3¢ O= v7 -110 -143.0 143.0
626 622 64 S= vJ 1430 106.0 -106.0 537 548 2¢ O+1 v3 -110 -143.0 143.0
647 646 64 S= vJ 1430 106.0 -106.0( 546 543 24 V= &2 -110 -143.0 143.0
651 636 64 N= v2 1430 106.0 -106.0 | 549 536 2¢ O+1 v5 -110 -143.0 143.0
652 635 64 N= L JO) 1430 106.0 -106.0 550 535 2¢ O+1 v5 -110 -143.0 143.0
424 459 6¢ N= va 1370 25.0 -25.0| 652 635 24 V= vT -110 -143.0 143.0
425 458 6¢ N= v6 1370 25.0 -25.0| 656 631 3¢ O= v4 -110 -143.0 143.0
445 444 66 N= v9 1370 25.0 -25.0| 660 624 2NV = vT -120 -167.0 167.0
446 443 6¢ N= 46 1370 25.0 -25.0| 446 443 3¢ O+l +Q -130 -178.0 178.0
460 423 6¢ S= vJ 1370 25.0 -25.0 451 434 2¢ O+2 &3 -130 -178.0 178.0
659 628 6¢ N= L Jo) 1370 25.0 -25.0 551 534 2¢ O+2 a5 -130 -178.0 178.0
422 428 44 S +2 &3 680 -457.0 457.0| 648 645 3¢ O+1 va -130 -178.0 178.0
525 521 44 S+2 vJ 680 -457.0 457.0| 650 637 24 V+1 vT -140 -185.0 185.0
632 655 44 N +2 v6 680 -457.0 457.0| 447 438 3v S-3 *A -150 -189.0 189.0
650 637 44 N+2 v9 680 -457.0 457.0 553 532 2NV +1 &3 -150 -189.0 189.0
421 429 74 S-1 vJ -100 -756.0 756.0 | 657 630 2¢ O+3 a5 -150 -189.0 189.0
555 530 74 S-1 a5 -100 -756.0 756.0| 431 454 3NO= v7 -600 -545.0 545.0
623 625 74 N-1 vQ -100 -756.0 756.0| 547 538 3NO= +Q -600 -545.0 545.0
657 630 64 N-1 *J -100 -756.0 756.0( 560 523 3NO-= v4 -600 -545.0 545.0
658 629 74 N-1 v9 -100 -756.0 756.0 445 444 3NO+1 +Q -630 -563.0 563.0
660 624 74 S-1 vJ -100 -756.0 756.0 | 426 457 3N O +2 +Q -660 -582.0 582.0
654 633 74 S-2 &3 -200 -783.0 783.0| 531 554 3NDO= &A -750 -627.0 627.0
- 448 125 - 448 125
7 453 Basta kontrakt 8 4 D72 Bésta kontrakt
Syd v E875 3 S =110 Vast v EK42 24 ND-1-100
Alla ¢ Kn3 Ingen ¢+ E84
#E10652 & ¢ v &N #1053 & ¢ v &N
«E10864 4 DKn9 N8 6 745 & Kn 4 K9865 N8 4477
v 102 v D643 S967 45 vD9763  vKn8 S84477
* K72 + D1065 047586 ¢+ KDKn32 41075 O5 8865
874 KD V47586 £96 #EKKn V58865
& K72 «E1043
v KKn9 v 105
+ E984 +96
#Kn93 #D8742
Par Kontr ut Res Poang Par Kontr ut Res Poang
438 449 2v N+1 &K 140 262.0 -262.0 426 458 INS+2 *+ K 150 254.0 -254.0
560 524 INS+1 46 120 233.0 -233.0( 538 549 2v V-3 &2 150 254.0 -254.0
653 632 INS+1 46 120 233.0 -233.0( 651 634 24 O-3 vT 150 254.0 -254.0
657 628 INS+1 a4 120 233.0 -233.0| 554 533 INS+1 *+ K 120 218.0 -218.0
637 648 3« N= &K 110 213.0 -213.0( 425 459 3¢ V-2 *4 100 195.0 -195.0
547 544 34 V-1 *J 100 193.0 -193.0 657 628 24 O-2 &2 100 195.0 -195.0
655 630 34 V-1 *J 100 193.0 -193.0( 451 436 24 N= aJ 90 179.0 -179.0
425 459 INS= a4 90 189.0 -189.0| 548 543 INS= ¢+ K 90 179.0 -179.0
428 456 INS= a4 90 189.0 -189.0( 631 654 2& N= +5 90 179.0 -179.0
447 444 INS= a4 90 189.0 -189.0( 423 429 2v V-1 &3 50 129.0 -129.0
451 436 INN= a4 90 189.0 -189.0( 434 453 24 O-1 &2 50 129.0 -129.0
452 435 INS= a4 90 189.0 -189.0 446 445 3v O-1 &2 50 129.0 -129.0
454 433 INS= a4 90 189.0 -189.0 | 447 444 2y V-1 &3 50 129.0 -129.0
526 522 INS= a2 90 189.0 -189.0 527 521 1INV-1 vA 50 129.0 -129.0
527 521 INS= a4 90 189.0 -189.0 530 557 INV-1 &T 50 129.0 -129.0
538 549 INS= a4 90 189.0 -189.0( 532 555 2v V-1 a2 50 129.0 -129.0
546 545 INS= a4 90 189.0 -189.0( 625 621 24 O-1 &2 50 129.0 -129.0
551 536 INS= a2 90 189.0 -189.0( 626 659 14 O-1 vT 50 129.0 -129.0
558 529 INS= 46 90 189.0 -189.0( 633 652 24 O-1 &2 50 129.0 -129.0
631 654 INS= a4 90 189.0 -189.0| 637 648 2v O-1 &2 50 129.0 -129.0
647 644 INS= a4 90 189.0 -189.0( 647 644 3¢ V-1 a2 50 129.0 -129.0
649 636 INS= a4 90 189.0 -189.0( 660 623 2v V-1 v2 50 129.0 -129.0
658 627 INS= a2 90 189.0 -189.0 534 553 34 N-1 vJ -50 0.0 0.0
460 424 Pass 67.0 -67.0| 550 537 INS-1 * K -50 0.0 0.0
426 458 INS-1 a4 -100 -49.0 49.0( 428 456 14 O= vT -80 -49.0 49.0
534 553 INS-1 a4 -100 -49.0 49.0( 421 431 2¢ V= vA -90 -54.0 54.0
651 634 2v N-1 4Q -100 -49.0 49.0( 523 525 2¢ V= vA -90 -54.0 54.0
656 629 34 S-1 v2 -100 -49.0 49.0| 526 522 2¢ V= vA -90 -54.0 54.0
532 555 24 V= +*J -110 -52.0 520 546 545 2¢ O= +9 -90 -54.0 54.0
432 455 INO+1 a2 -120 -71.0 71.0| 551 536 2¢ V= vA -90 -54.0 54.0
550 537 24 O+1 *J -140 -100.0 100.0| 448 443 INS-2 *+ K -100 -70.0 70.0
626 659 24 V +1 *J -140 -100.0 100.0| 460 424 3& N-2 +5 -100 -70.0 70.0
556 531 INO +2 +8 -150 -107.0 107.0| 556 531 3&#DN-1 vJ -100 -70.0 70.0
427 457 INDO = v3 -180 -151.0 151.0| 658 627 INS-2 *+ K -100 -70.0 70.0
421 431 INS-2 a4 -200 -177.0 177.0| 427 457 3¢ V= vA -110 -78.0 78.0

Svenska Bridgeforbundet, Silver 1 IAF 2018-07-27, sida 4 av 17




434 453 INS-2 a5 -200 -177.0 177.0| 438 449 2¢ V+1 vA -110 -78.0 78.0
446 445 INS-2 a4 -200 -177.0 177.0| 452 435 14 O+1 +9 -110 -78.0 78.0
448 443 INS-2 a4 -200 -177.0 177.0| 454 433 2y O= »2 -110 -78.0 78.0
548 543 INS-2 a4 -200 -177.0 177.0| 558 529 3¢ V= *4 -110 -78.0 78.0
552 535 INS-2 a4 -200 -177.0 177.0| 560 524 2y O= +9 -110 -78.0 78.0
559 528 INS-2 46 -200 -177.0 177.0| 646 645 2¢ O+1 vT -110 -78.0 78.0
622 624 INS-2 a4 -200 -177.0 177.0| 656 629 1INV +1 v4 -120 -101.0 101.0
625 621 INS-2 46 -200 -177.0 177.0| 432 455 2v O+1 +9 -140 -128.0 128.0
633 652 INS-2 46 -200 -177.0 177.0| 559 528 3v V= &T -140 -128.0 128.0
646 645 14 S-2 a4 -200 -177.0 177.0| 649 636 2v V+1 a2 -140 -128.0 128.0
650 635 INS-2 a4 -200 -177.0 177.0| 653 632 2v V+1 vA -140 -128.0 128.0
660 623 INS-2 a4 -200 -177.0 177.0| 655 630 2v V+1 a2 -140 -128.0 128.0
423 429 INS-3 46 -300 -296.0 296.0| 650 635 INV+2 v2 -150 -133.0 133.0
523 525 INN-3 +Q -300 -296.0 296.0( 547 544 2v V +2 &T -170 -169.0 169.0
530 557 INS-3 46 -300 -296.0 296.0| 552 535 3NO+1 &7 -430 -435.0 435.0
554 533 INN-3 +Q -300 -296.0 296.0| 622 624 2vyDV= 43 -470 -472.0 472.0
422 430 3NS-4 46 -400 -389.0 389.0| 422 430 34DS-3 ¢+ K -500 -489.0 489.0
450 - -30.7 450 - -30.7
9 4« EKn1084 Basta kontrakt 10 « EDKn82 Basta kontrakt
Nord vD8 ANT N =430 Ost v 108 3NT S =600
oV + KKn974 Alla ¢ 10763
210 & ¢ v & NT #106 & ¢ v &N
4 D96 #7532 N 10119 1010 a4 4109753 N6 88 89
vE93 v KKn42 S 10119 1010 vED3 v K54 S 68889
4852 + D3 030413 ¢ E842 + Kn5 07 45 44
#Kn865 %942 V30413 #Kn9873 &D52 V74544
+K 4« K6
v 10765 vKn9762
+ E106 + KD9
&#EKD73 &EK4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
560 525 64 N= *9 920 592.0 -592.0( 649 648 24DS= a4 670 537.0 -537.0
658 633 64 N= »6 920 592.0 -592.0( 449 444 3NS= &7 600 479.0 -479.0
449 444 3N S +3 +8 490 246.0 -246.0 524 526 3NS= *4 600 479.0 -479.0
527 523 3N S +3 &5 490 246.0 -246.0( 636 655 3NS= &7 600 479.0 -479.0
652 645 3N S +3 »6 490 246.0 -246.0( 658 633 3NS= *3 600 479.0 -479.0
453 436 3N S +2 *6 460 211.0 -211.0| 426 459 14D N +2 +J 560 460.0 -460.0
422 432 3NS+1 +5 430 164.0 -164.0( 621 631 INS+2 &8 150 23.0 -23.0
429 456 3N S +1 v3 430 164.0 -164.0( 622 630 2N S+1 +4 150 23.0 -23.0
448 445 3N S +1 +8 430 164.0 -164.0( 653 644 INS+2 &3 150 23.0 -23.0
451 438 3NN +1 v9 430 164.0 -164.0( 423 431 24 S+1 &8 140 23.0 -23.0
547 546 3NS+1 +8 430 164.0 -164.0( 433 421 24 S+1 &3 140 23.0 -23.0
428 457 44 N= v3 420 161.0 -161.0( 451 438 24 N+1 &3 140 23.0 -23.0
455 434 5¢ N +1 *2 420 161.0 -161.0( 551 538 24 S+1 &2 140 23.0 -23.0
621 631 44 N= v4 420 161.0 -161.0( 557 532 24 S+1 &3 140 23.0 -23.0
654 637 5¢ N+1 &3 420 161.0 -161.0( 558 531 24 S+1 L X 140 23.0 -23.0
426 459 3N S= *6 400 129.0 -129.0( 559 530 3v S= 46 140 23.0 -23.0
460 425 5¢ N= v4 400 129.0 -129.0( 560 525 24 S+1 *9 140 23.0 -23.0
521 529 5¢ N= *9 400 129.0 -129.0( 652 645 24 N+1 +J 140 23.0 -23.0
524 526 3NS= v3 400 129.0 -129.0( 656 635 24 S+1 &2 140 23.0 -23.0
528 522 3NS= v3 400 129.0 -129.0 | 429 456 INS+1 &3 120 -14.0 14.0
533 556 3NS= v3 400 129.0 -129.0( 460 425 2N S= *8 120 -14.0 14.0
548 545 3NN-= *2 400 129.0 -129.0( 555 534 2NS= &7 120 -14.0 14.0
552 537 3NS= v3 400 129.0 -129.0( 424 430 24 S= &7 110 -24.0 24.0
555 534 3NN-= »2 400 129.0 -129.0( 435 454 2v S= a4 110 -24.0 24.0
557 532 3NS= vA 400 129.0 -129.0( 443 450 24 S= &3 110 -24.0 24.0
558 531 3NN-= v4 400 129.0 -129.0 | 447 446 24 N= v5 110 -24.0 24.0
625 627 3NN-= v4 400 129.0 -129.0( 455 434 24 S= &3 110 -24.0 24.0
628 624 3NN-= v4 400 129.0 -129.0( 521 529 24 S= a4 110 -24.0 24.0
629 623 3NN-= *9 400 129.0 -129.0( 528 522 24 S= *8 110 -24.0 24.0
634 657 3NS= v3 400 129.0 -129.0( 533 556 24 S= &3 110 -24.0 24.0
646 651 3NS= v3 400 129.0 -129.0( 535 554 24 S= &2 110 -24.0 24.0
649 648 3NN-= v4 400 129.0 -129.0( 543 550 24 S= +3 110 -24.0 24.0
650 647 3NS= 46 400 129.0 -129.0( 547 546 24 S= 29 110 -24.0 24.0
656 635 3NN-= v4 400 129.0 -129.0( 549 544 24 S= L X 110 -24.0 24.0
435 454 3¢ S+3 +8 170 -131.0 131.0| 625 627 24 S= 8 110 -24.0 24.0
622 630 2¢ S+4 2 170 -131.0 131.0| 628 624 2v S= a4 110 -24.0 24.0
559 530 2v S= +8 110 -204.0 2040 629 623 2v S= a4 110 -24.0 24.0
423 431 5¢ N-1 v5 -50 -364.0 364.0| 634 657 24 S= &3 110 -24.0 24.0
424 430 5¢ N-1 va -50 -364.0 364.0| 646 651 24 S= »8 110 -24.0 24.0
427 458 44 N-1 43 -50 -364.0 364.0| 654 637 24 S= &3 110 -24.0 24.0
433 421 5¢ N-1 v4 -50 -364.0 364.0| 659 632 24 S= a4 110 -24.0 24.0
447 446 5¢ N-1 v4 -50 -364.0 364.0| 660 626 24 S= &7 110 -24.0 24.0
535 554 5¢ N-1 v2 -50 -364.0 364.0 | 422 432 24 S-1 &3 -100 -269.0 269.0
543 550 5¢ N-1 v4 -50 -364.0 364.0| 427 458 3NS-1 &K -100 -269.0 269.0
549 544 5¢ N-1 v4 -50 -364.0 364.0| 428 457 24 S-1 *8 -100 -269.0 269.0
551 538 5¢ N-1 vJ] -50 -364.0 364.0| 448 445 2v S-1 a4 -100 -269.0 269.0
636 655 5¢ N-1 v2 -50 -364.0 364.0| 453 436 24 S-1 &3 -100 -269.0 269.0
653 644 5¢ N-1 vK -50 -364.0 364.0| 527 523 24 S-1 &3 -100 -269.0 269.0
659 632 5¢ N-1 v4 -50 -364.0 364.0| 548 545 3NN-1 »2 -100 -269.0 269.0
660 626 5¢ N-1 v2 -50 -364.0 364.0| 552 537 24 S-1 &3 -100 -269.0 269.0
443 450 5¢ N-2 v4 -100 -425.0 4250 553 536 24 S-1 *8 -100 -269.0 269.0
553 536 5¢ N-2 v4 -100 -425.0 4250 650 647 2NS-1 &8 -100 -269.0 269.0
452 - -39.9 452 - -39.9
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11 482 Béasta kontrakt 12 #9865 Basta kontrakt
Syd v K9875 34 VD-1100 Vast v 1075 7¢ V =-1440
Ingen ¢ 102 NS ¢+ 75
&ED95 & ¢ v & NT &K643 & ¢ v & NT
4 EK4 4109765 N8 7 7 5 8 4 EKKn42 #103 N50322
v 64 v Kn1032 S87 658 v D84 v EKn2 S50322
¢ E53 + Kn984 O56 6 85 + KD93 + EKn864 O 8 13101111
&#KKn862 &- V56685 &Kn &E109 vV 8 139 1111
« DKn3 « D7
vED v K963
+ KD76 + 102
#10743 #D8752
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
450 445 34DV -4 *T 800 644.0 -644.0 434 422 3NO= &2 -400 339.0 -339.0
425 431 3NS+1 s A 430 420.0 -420.0| 657 632 3NO+1 &2 -430 305.0 -305.0
559 532 3NS= &2 400 393.0 -393.0| 430 456 5¢ O +2 &3 -440 305.0 -305.0
651 644 3NS= &2 400 393.0 -393.0| 449 446 5¢ O +2 &5 -440 305.0 -305.0
652 637 3NS= &2 400 393.0 -393.0| 621 629 5¢ O+2 &7 -440 305.0 -305.0
434 422 24D O -2 &4 300 291.0 -291.0| 423 433 3NO +2 &2 -460 263.0 -263.0
648 647 2¢DO-2 &4 300 291.0 -291.0| 424 432 3NO +2 &2 -460 263.0 -263.0
424 432 2+ V-3 *T 150 128.0 -128.0| 428 458 3N O +2 &7 -460 263.0 -263.0
429 457 3% 0 -3 vA 150 128.0 -128.0 | 444 451 3NO +2 &5 -460 263.0 -263.0
534 557 2# V-3 *T 150 128.0 -128.0 | 448 447 3N O +2 &2 -460 263.0 -263.0
627 623 2N S +1 s A 150 128.0 -128.0 | 453 438 3N O +2 &2 -460 263.0 -263.0
628 622 2NS+1 &3 150 128.0 -128.0 | 460 426 3N O +2 &7 -460 263.0 -263.0
645 650 2& V-3 *T 150 128.0 -128.0| 559 532 3NO +2 &5 -460 263.0 -263.0
649 646 2+ V-3 *T 150 128.0 -128.0| 560 526 3N O +2 &2 -460 263.0 -263.0
657 632 34 O-3 &4 150 128.0 -128.0| 652 637 3NO +2 &5 -460 263.0 -263.0
525 527 2N S= s A 120 96.0 -96.0| 425 431 3NO+3 &7 -490 235.0 -235.0
529 523 2N S= s A 120 96.0 -96.0( 450 445 3NO+3 v6 -490 235.0 -235.0
552 543 INS+1 &2 120 96.0 -96.0 525 527 3NO+3 &2 -490 235.0 -235.0
660 625 2N S= &2 120 96.0 -96.0 548 547 3NO+3 &Q -490 235.0 -235.0
448 447 2v N= a5 110 77.0 -77.0| 554 537 3NO+3 v3 -490 235.0 -235.0
621 629 2v N= aT 110 77.0 -77.0| 624 626 3N O +3 &2 -490 235.0 -235.0
427 459 34D O-1 vA 100 60.0 -60.0| 627 623 3NO+3 &2 -490 235.0 -235.0
428 458 34 V-2 &4 100 60.0 -60.0| 645 650 3NO +3 &3 -490 235.0 -235.0
544 551 2# V-2 *T 100 60.0 -60.0| 648 647 3N O +3 »6 -490 235.0 -235.0
554 537 34 V-2 + K 100 60.0 -60.0| 651 644 3NO+3 &5 -490 235.0 -235.0
558 533 INDV-1 v9 100 60.0 -60.0| 654 635 3NO +3 &7 -490 235.0 -235.0
655 634 24D O-1 K 100 60.0 -60.0| 655 634 3NO+3 &5 -490 235.0 -235.0
658 631 34 O-2 vA 100 60.0 -60.0( 658 631 3NO +3 &2 -490 235.0 -235.0
536 555 2#S= s A 90 53.0 -53.0| 534 557 6¢ V= v5 -920 -223.0 223.0
444 451 24 O-1 v7 50 -3.0 3.0| 550 545 6¢ V= v5 -920 -223.0 223.0
521 531 24 V-1 v3 50 -3.0 3.0| 553 538 6¢ O= &2 -920 -223.0 223.0
659 630 34 O-1 vA 50 -3.0 3.0| 628 622 6¢ O= +3 -920 -223.0 223.0
421 435 2v N-1 aT -50 -114.0 114.0| 653 636 64 O= *T -920 -223.0 223.0
423 433 2v N-1 a5 -50 -114.0 114.0| 660 625 6¢ O= *2 -920 -223.0 223.0
436 455 3v N-1 +8 -50 -114.0 114.0| 421 435 64 O+1 v6 -940 -247.0 247.0
548 547 3v S-1 &K -50 -114.0 114.0| 427 459 6¢ O+1 v3 -940 -247.0 247.0
550 545 34 S-1 s A -50 -114.0 114.0| 429 457 6¢ O+1 v3 -940 -247.0 247.0
624 626 2v N-1 46 -50 -114.0 114.0| 436 455 6¢ O+1 ¢2 -940 -247.0 247.0
449 446 2v N-2 aT -100 -180.0 180.0 | 452 443 6¢ O+1 +Q -940 -247.0 247.0
452 443 2# N -2 T -100 -180.0 180.0| 521 531 6¢ O+l v2 -940 -247.0 247.0
460 426 2% N -2 T -100 -180.0 180.0 | 522 530 6¢ O+1 &2 -940 -247.0 247.0
560 526 3v N-2 a5 -100 -180.0 180.0| 544 551 64 O+1 v6 -940 -247.0 247.0
522 530 24 V= *T -110 -183.0 183.0| 549 546 6¢ O +1 *T -940 -247.0 247.0
553 538 24 O= +K -110 -183.0 183.0| 552 543 64 O+1 *T -940 -247.0 247.0
556 535 24 O= &4 -110 -183.0 183.0| 556 535 64 O+1 «Q -940 -247.0 247.0
633 656 24 O= «Q -110 -183.0 183.0| 558 533 64 O+1 &8 -940 -247.0 247.0
430 456 34 O= vA -140 -222.0 2220 649 646 6¢ O+1 &2 -940 -247.0 247.0
528 524 54 S-3 v4 -150 -230.0 230.0( 659 630 64 O+1 +Q -940 -247.0 247.0
653 636 4vDN-2 T -300 -373.0 373.0| 528 524 74 O= &5 -1440 -612.0 612.0
654 635 4vDN-3 a5 -500 -530.0 530.0( 529 523 74 O= *T -1440 -612.0 612.0
453 438 4vDN -4 aT -800 -665.0 665.0| 536 555 7¢ O= +3 -1440 -612.0 612.0
549 546 6¢ O +1 *T -940 -695.0 695.0| 633 656 7¢ V= *7 -1440 -612.0 612.0
454 - -13.2 454 - -13.2
13 # 1076543 Basta kontrakt 14 « D9763 Basta kontrakt
Nord v EK10 44 N =620 Ost v 872 5v O =-450
Alla +Kn Ingen + D106
SEK2 & ¢ v & NT &Kn7 & ¢ v & NT
«ED8 & Kn2 N8 7 8 108 ~E82 410 N3 2274
v 987 v D432 S 87 8 109 v104 v KD653 S32273
¢ D10652 ¢ K3 O565 3 14 *2 + EKKn9854 O 1011115 8
&#Kn8 #97543 V5653414 &#KD108432 &- V 1011115 8
& K9 & KKn54
v Kn65 v EKNn9
¢ E9874 ¢73
D106 &#E965
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
429 458 44 N+1 v3 650 470.0 -470.0 [ 425 433 6vDO-2 &A 300 478.0 -478.0
622 634 44 N+1 v3 650 470.0 -470.0( 622 634 6vDO-2 &A 300 478.0 -478.0
428 459 44 N= v3 620 429.0 -429.0| 654 647 4y O-4 a5 200 411.0 -411.0
430 457 44 N= +K 620 429.0 -429.0( 453 444 3NV-3 46 150 360.0 -360.0
431 456 44 N= &3 620 429.0 -429.0 | 460 427 6v O-3 a5 150 360.0 -360.0
445 452 44 N= v3 620 429.0 -429.0| 522 532 3NV-3 a3 150 360.0 -360.0
526 528 44 N= v2 620 429.0 -429.0| 559 534 54 V-2 46 100 320.0 -320.0
537 556 44 N= v3 620 429.0 -429.0 | 426 432 3v V-1 a7 50 265.0 -265.0
550 547 44 N= v2 620 429.0 -429.0| 430 457 3NV-1 46 50 265.0 -265.0
627 629 44 N= &9 620 429.0 -429.0 | 449 448 4v O-1 &A 50 265.0 -265.0
630 626 44 N= v2 620 429.0 -429.0| 451 446 3NO-1 LY 50 265.0 -265.0
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636 659 44 N= 3 620 429.0 -429.0| 537 556 3NV-1 43 50 265.0 -265.0
655 646 3NN-= 3 600 415.0 -415.0| 551 546 4v O-1 *A 50 265.0 -265.0
624 632 24 N+3 v3 200 48.0 -48.0( 553 544 4v V-1 3 50 265.0 -265.0
422 436 24 N+2 v3 170 16.0 -16.0| 630 626 3NO-1 a2 50 265.0 -265.0
425 433 24 N+2 3 170 16.0 -16.0( 651 650 4% V-1 oT 50 265.0 -265.0
426 432 24 N +2 *4 170 16.0 -16.0( 655 646 64 V-1 46 50 265.0 -265.0
449 448 24 N +2 3 170 16.0 -16.0| 557 536 34 N-1 *A -50 154.0 -154.0
460 427 24 N+2 ¢+K 170 16.0 -16.0( 550 547 3¢ O+1 a5 -130 63.0 -63.0
521 533 24 N+2 *2 170 16.0 -16.0( 429 458 4¢ O+1 a4 -150 39.0 -39.0
623 633 24 N+2 +K 170 16.0 -16.0 431 456 3¢ O+2 a5 -150 39.0 -39.0
651 650 24 N+2 v3 170 16.0 -16.0( 523 531 4¢ O+1 a5 -150 39.0 -39.0
654 647 24 N +2 v4 170 16.0 -16.0( 530 524 3¢ O+2 a5 -150 39.0 -39.0
424 434 24 N+1 *7 140 -24.0 24.0| 535 558 3¢ O+2 a5 -150 39.0 -39.0
450 447 24 N+1 3 140 -24.0 24.0| 549 548 3¢ O+2 a5 -150 39.0 -39.0
455 438 24 N+1 ¢+ K 140 -24.0 24.0| 554 543 4¢ O+1 +3 -150 39.0 -39.0
523 531 24 N+1 *T 140 -24.0 24.0| 627 629 3¢ O+2 vA -150 39.0 -39.0
545 552 24 N+1 *2 140 -24.0 24.0| 652 649 3¢ O+2 +3 -150 39.0 -39.0
549 548 24 N+1 *6 140 -24.0 24.0| 435 423 3v O+1 a5 -170 7.0 -7.0
551 546 24 N+1 *7 140 -24.0 24.0| 560 527 4¢ O+2 +3 -170 7.0 -7.0
554 543 24 N+1 a2 140 -24.0 240| 621 635 3¢ O+3 *A -170 7.0 -7.0
559 534 24 N+1 ¢+ K 140 -24.0 24.0| 424 434 5¢ O= *4 -400 -241.0 241.0
660 628 24 N= 3 110 -73.0 73.0| 445 452 5¢ O= +3 -400 -241.0 241.0
435 423 44 N-1 +K -100 -282.0 282.0| 521 533 5¢ O= ¢3 -400 -241.0 241.0
453 444 3NS-1 +5 -100 -282.0 2820 526 528 5¢ O= 5 -400 -241.0 241.0
454 443 44 N-1 ¢+ K -100 -282.0 282.0| 545 552 5¢ O= a5 -400 -241.0 241.0
522 532 44 N-1 ¢ K -100 -282.0 282.0| 624 632 5¢ O= o7 -400 -241.0 241.0
529 525 3NS-1 +2 -100 -282.0 2820 656 645 5¢ O= 3 -400 -241.0 241.0
530 524 44 N-1 &7 -100 -282.0 282.0| 658 637 5¢ O= 45 -400 -241.0 241.0
535 558 44 N-1 ¢ K -100 -282.0 282.0| 660 628 5¢ O= a4 -400 -241.0 241.0
553 544 3NS-1 *2 -100 -282.0 282.0( 555 538 4v O= a4 -420 -268.0 268.0
555 538 44 N-1 &5 -100 -282.0 282.0| 623 633 4v 0= a4 -420 -268.0 268.0
557 536 44 N-1 3 -100 -282.0 282.0| 631 625 4v 0= 5 -420 -268.0 268.0
560 527 44 N-1 *9 -100 -282.0 2820 644 657 4v O= +5 -420 -268.0 268.0
621 635 44 N-1 3 -100 -282.0 282.0( 422 436 4y O+1 ¢7 -450 -308.0 308.0
631 625 44 N-1 ¢J -100 -282.0 282.0 450 447 4v O+1 a5 -450 -308.0 308.0
644 657 44 S-1 +5 -100 -282.0 282.0| 454 443 4v O+1 a5 -450 -308.0 308.0
648 653 44 N-1 ¢+ K -100 -282.0 282.0 455 438 4v O+1 a5 -450 -308.0 308.0
652 649 44 N-1 ¢+ K -100 -282.0 282.0| 636 659 4v O+2 o7 -480 -330.0 330.0
656 645 44 N-1 *2 -100 -282.0 282.0( 428 459 5¢DO= 3 -550 -401.0 401.0
658 637 44 N-1 ¢+ K -100 -282.0 282.0| 529 525 5¢DO= a4 -550 -401.0 401.0
451 446 3NN-3 3 -300 -472.0 472.0| 648 653 5¢DO= o7 -550 -401.0 401.0
- 421 -15 - 421 -15
15 4 E10752 Béasta kontrakt 16 a- Béasta kontrakt
Syd v KKn 5¢v S =650 Vast vKD107 64 VD -3 800
NS +32 ov ¢ ED32
#E765 & ¢ v & NT #108754 & ¢ v & NT
D63 & KKn984 N 1011119 9 4 D97542 & EKN1063 N 119 124 9
v54 v D872 S 1011119 9 v EKn6 v3 S 119 114 9
+Kn864 ¢ K9 032244 +8 ¢ Kn10965 0141092
#K1093 %84 V32244 #Kn92 #63 Vvia1l92
a- « K8
vE10963 v 98542
¢+ ED1075 ¢ K74
#DKn2 #EKD
Par Kontr ut Res Poang Par Kontr ut Res Poang
530 526 34DO-4 vA 800 393.0 -393.0| 427 433 6y N= *J 980 515.0 -515.0
554 545 4v S+2 *9 680 271.0 -271.0| 430 458 6v S= +3 980 515.0 -515.0
521 535 3NN +2 +K 660 251.0 -251.0| 432 456 6y N= oA 980 515.0 -515.0
523 533 4v S+1 *9 650 250.0 -250.0| 655 644 6y S= +8 980 515.0 -515.0
630 624 4v N+1 v5 650 250.0 -250.0 | 429 459 5vDS+1 +8 750 315.0 -315.0
637 656 4v S+1 *9 650 250.0 -250.0 | 431 457 5vDS+1 +8 750 315.0 -315.0
427 433 3NS+1 *9 630 210.0 -210.0| 556 543 5vDS+1 +8 750 315.0 -315.0
550 549 3NS+1 3 630 210.0 -210.0| 622 632 5vDS+1 +8 750 315.0 -315.0
558 537 3NS+1 *9 630 210.0 -210.0| 630 624 5vDS+1 +8 750 315.0 -315.0
655 644 3NN+1 *8 630 210.0 -210.0| 651 648 5vDS+1 +8 750 315.0 -315.0
660 627 3NN+1 Ly 630 210.0 -210.0| 653 646 5S5vDS+1 +8 750 315.0 -315.0
421 443 4v S= +9 620 208.0 -208.0| 436 424 54DV -2 vK 500 50.0 -50.0
436 424 4v S= *9 620 208.0 -208.0| 524 532 54DO-2 *A 500 50.0 -50.0
451 448 4y N= *4 620 208.0 -208.0 | 438 422 5v S+1 +8 480 12.0 -12.0
460 428 4v S= v5 620 208.0 -208.0 | 446 453 4v S +2 +8 480 12.0 -12.0
621 633 4v S= v5 620 208.0 -208.0| 451 448 4v N+2 +J 480 12.0 -12.0
438 422 3NS= *9 600 176.0 -176.0| 454 445 4y S+2 +8 480 12.0 -12.0
446 453 3NN-= 8 600 176.0 -176.0| 536 559 5v S+1 +8 480 12.0 -12.0
450 449 3NS= 3 600 176.0 -176.0 | 538 557 4v N +2 +3 480 12.0 -12.0
452 447 3NN-= +9 600 176.0 -176.0 | 550 549 4v S+2 +8 480 12.0 -12.0
454 445 3NN-= *8 600 176.0 -176.0 | 551 548 4v S +2 +8 480 12.0 -12.0
455 444 3NN-= a4 600 176.0 -176.0 | 552 547 4v N+2 oA 480 12.0 -12.0
522 534 3NS= 3 600 176.0 -176.0 | 555 544 5v S+1 +8 480 12.0 -12.0
524 532 3NN-= Ly 600 176.0 -176.0 | 558 537 5v S+1 +8 480 12.0 -12.0
531 525 3NS= 3 600 176.0 -176.0 | 560 528 4v S +2 +8 480 12.0 -12.0
536 559 3NN-= 8 600 176.0 -176.0| 659 634 5v S+1 +8 480 12.0 -12.0
555 544 3NS= *9 600 176.0 -176.0 | 421 443 4v S+1 a7 450 -28.0 28.0
623 631 3NS= &T 600 176.0 -176.0 | 425 435 4v S+1 a5 450 -28.0 28.0
629 625 3NN-= 49 600 176.0 -176.0 | 426 434 5v S= a7 450 -28.0 28.0
635 658 3NN-= 3 600 176.0 -176.0| 460 428 5v S= a4 450 -28.0 28.0
647 652 3NN-= 48 600 176.0 -176.0 | 523 533 4v S+1 +8 450 -28.0 28.0
650 649 3NN-= *8 600 176.0 -176.0 | 554 545 4v S+1 a4 450 -28.0 28.0
654 645 3NS= 3 600 176.0 -176.0| 621 633 5v N= LY 450 -28.0 28.0
657 636 3NN-= a4 600 176.0 -176.0| 626 628 4v S+1 a4 450 -28.0 28.0
432 456 34DO-3 *Q 500 63.0 -63.0| 629 625 5v S= a2 450 -28.0 28.0
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431 457 3v S+3 *9 230 -206.0 206.0| 635 658 5v S= a4 450 -28.0 28.0
552 547 2v S+3 43 200 -229.0 229.0| 650 649 4v N+1 +J 450 -28.0 28.0
426 434 2v S +2 3 170 -262.0 262.0| 455 444 5& N +1 ¢J 420 -62.0 62.0
538 557 2v S+2 v4 170 -262.0 262.0| 657 636 5#S+1 a4 420 -62.0 62.0
659 634 3v S+1 v5 170 -262.0 262.0| 623 631 3NS= a4 400 -90.0 90.0
651 648 2NN +1 49 150 -280.0 280.0 450 449 44DV-1 vK 200 -308.0 308.0
429 459 3NS-1 +Q -100 -447.0 447.0( 521 535 44DO-1 A 200 -308.0 308.0
430 458 3NS-1 #3 -100 -447.0 4470 522 534 44DV-1 vK 200 -308.0 308.0
551 548 3NN-1 &8 -100 -447.0 4470 ( 531 525 44DV-1 vK 200 -308.0 308.0
560 528 3NN-1 8 -100 -447.0 4470 546 553 44DV-1 vK 200 -308.0 308.0
622 632 3NN-1 8 -100 -447.0 447.0| 637 656 44DV-1 vK 200 -308.0 308.0
425 435 3NN -2 3 -200 -518.0 518.0| 647 652 44DO-1 A 200 -308.0 308.0
546 553 3N N-2 v3 -200 -518.0 518.0| 654 645 44DV-1 vK 200 -308.0 308.0
556 543 3NDS-1 «Q -200 -518.0 518.0| 660 627 44DV-1 vK 200 -308.0 308.0
653 646 3NS-2 «Q -200 -518.0 518.0 | 452 447 44 V-1 vK 100 -409.0 409.0
527 529 3NS-3 46 -300 -589.0 589.0 | 527 529 4s V-1 vK 100 -409.0 409.0
626 628 3NS-3 *9 -300 -589.0 589.0 530 526 44 V-1 vK 100 -409.0 409.0
423 - 20.7 423 - 20.7
17 41094 Basta kontrakt 18 4« KKn6 Basta kontrakt
Nord v K95 64 O =-980 Ost vD32 2NT S =120
Ingen + KD9 NS ¢ E532
#10932 & ¢ v &N K63 & ¢ v &N
« EKn85 4 KD76 N15111 4 D2 4« E854 N6 7 8 88
vD1063 vE42 S15111 vKn765 vE4 S67 888
¢ EKn +82 0117 11121 +Kn97 ¢ KD84 06 6 555
#DKn6 #EKS84 vV 117 11121 #Kn742 #D105 V66555
@32 10973
v Kn87 v K1098
¢ 1076543 ¢ 106
&75 #E98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
421 445 6N O -2 +4 100 576.0 -576.0 426 436 INO-3 aT 150 173.0 -173.0
452 449 64 O-1 +4 50 563.0 -563.0( 557 544 2NO-3 oT 150 173.0 -173.0
531 527 64 O-1 &7 50 563.0 -563.0( 656 649 2v S= «Q 110 103.0 -103.0
553 548 64 O-1 &7 50 563.0 -563.0( 430 459 INO-2 aT 100 101.0 -101.0
633 627 64 O-1 +4 50 563.0 -563.0( 431 458 INO-2 a7 100 101.0 -101.0
552 549 3NO+1 +3 -430 181.0 -181.0( 443 423 INO-2 v9 100 101.0 -101.0
556 545 3N O +1 +4 -430 181.0 -181.0( 451 450 INO-2 aT 100 101.0 -101.0
625 635 3NO +1 ¢+4 -430 181.0 -181.0( 522 536 INO-2 v9 100 101.0 -101.0
424 438 44 O +1 +4 -450 147.0 -147.0( 523 535 INO-2 3 100 101.0 -101.0
432 457 44 O +1 +6 -450 147.0 -147.0( 531 527 INO-2 aT 100 101.0 -101.0
443 423 4y O +1 &3 -450 147.0 -147.0( 543 558 INO-2 v9 100 101.0 -101.0
453 448 44 O +1 *7 -450 147.0 -147.0( 551 550 INO-2 oT 100 101.0 -101.0
455 446 44 O +1 +6 -450 147.0 -147.0 552 549 INO-2 a7 100 101.0 -101.0
528 530 4y O +1 ¢7 -450 147.0 -147.0( 555 546 INO-2 aT 100 101.0 -101.0
559 538 44 O+1 ¢+5 -450 147.0 -147.0( 556 545 INO-2 oT 100 101.0 -101.0
624 636 44 O +1 *6 -450 147.0 -147.0( 623 637 INO-2 +Q 100 101.0 -101.0
656 649 44 O +1 +6 -450 147.0 -147.0( 624 636 INO-2 aT 100 101.0 -101.0
422 444 4e4 O +2 &7 -480 117.0 -117.0( 629 631 INO-2 oT 100 101.0 -101.0
427 435 4e V +2 aT -480 117.0 -117.0( 633 627 INO-2 aT 100 101.0 -101.0
430 459 44 O +2 +6 -480 117.0 -117.0( 650 655 INO-2 v8 100 101.0 -101.0
447 454 4e O +2 3 -480 117.0 -117.0( 657 648 INO-2 oT 100 101.0 -101.0
525 533 44 O +2 ¢7 -480 117.0 -117.0( 421 445 INO-1 aT 50 10.0 -10.0
543 558 44 O +2 &7 -480 117.0 -117.0| 428 434 INO-1 aT 50 10.0 -10.0
547 554 44 O +2 3 -480 117.0 -117.0( 432 457 INO-1 oT 50 10.0 -10.0
555 546 4e V +2 ¢+ K -480 117.0 -117.0( 433 456 INO-1 v9 50 10.0 -10.0
560 529 44 O+2 v7 -480 117.0 -117.0( 453 448 INO-1 aT 50 10.0 -10.0
629 631 44 O+2 *7 -480 117.0 -117.0( 455 446 INO-1 oT 50 10.0 -10.0
632 628 44 O +2 v7 -480 117.0 -117.0( 460 429 INO-1 aT 50 10.0 -10.0
644 622 44 O +2 &5 -480 117.0 -117.0( 524 534 INO-1 *T 50 10.0 -10.0
646 659 4e O +2 &7 -480 117.0 -117.0( 528 530 INO-1 v8 50 10.0 -10.0
653 652 44 O +2 43 -480 117.0 -117.0( 532 526 INO-1 a7 50 10.0 -10.0
657 648 44 O +2 &7 -480 117.0 -117.0| 537 521 INO-1 v8 50 10.0 -10.0
658 647 44 O +2 &7 -480 117.0 -117.0( 553 548 INO-1 oT 50 10.0 -10.0
426 436 3N O +3 43 -490 101.0 -101.0( 559 538 INO-1 v8 50 10.0 -10.0
433 456 3N O +3 @3 -490 101.0 -101.0( 560 529 INO-1 v9 50 10.0 -10.0
428 434 64 O = v7 -980 -398.0 398.0| 625 635 INO-1 50 10.0 -10.0
431 458 64 O = 43 -980 -398.0 398.0| 644 622 INO-1 v9 50 10.0 -10.0
451 450 64 O = @2 -980 -398.0 398.0 646 659 INO-1 v9 50 10.0 -10.0
460 429 64 O = +6 -980 -398.0 398.0| 654 651 INO-1 oT 50 10.0 -10.0
522 536 64 O= *4 -980 -398.0 398.0| 658 647 INO-1 a7 50 10.0 -10.0
523 535 64 O= &7 -980 -398.0 398.0 660 630 INO-1 a7 50 10.0 -10.0
524 534 64 O= *7 -980 -398.0 398.0| 422 444 INO= a7 -90 -174.0 174.0
532 526 64 O= +3 -980 -398.0 398.0| 452 449 INO= v9 -90 -174.0 174.0
551 550 64 O= +6 -980 -398.0 398.0| 525 533 INO= v8 -90 -174.0 174.0
557 544 64 O= +8 -980 -398.0 398.0| 547 554 INO= v9 -90 -174.0 174.0
621 645 64 O = +4 -980 -398.0 398.0| 621 645 INO= 43 -90 -174.0 174.0
623 637 64 O= +5 -980 -398.0 398.0| 626 634 INO= v8 -90 -174.0 174.0
626 634 64 O= ¢+5 -980 -398.0 398.0| 424 438 INO+1 v9 -120 -225.0 225.0
650 655 64 O = +4 -980 -398.0 398.0| 653 652 INV+1 +3 -120 -225.0 225.0
654 651 64 O= +5 -980 -398.0 398.0| 447 454 INDO= v8 -180 -287.0 287.0
660 630 64 O= +4 -980 -398.0 398.0| 632 628 2v S-2 *7 -200 -289.0 289.0
537 521 6NO= v7 -990 -400.0 400.0 | 427 435 2v S-3 &4 -300 -397.0 397.0
- 425 52.7 - 425 52.7
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19 4 K102 Béasta kontrakt 20 « D987 Béasta kontrakt
Syd v75 4e V =-620 Vast v D96 3#V =-110
ov ¢54 Alla ¢ EDKn7
#KD10532 & ¢ v aN #Kn10 & ¢ v & NT
«EDKn4 4975 N7 3435 4E62 #KI105 N45867
vE98 v DKn43 S73435 vK85 v4 S45867
¢ K10986 ¢ ED73 O 6 109 107 ¢1082 ¢ K6543 09 8566
&7 *94 vV 6 109 107 #K642 #E983 V98566
# 863 « Kn43
v K1062 v EKn10732
¢ Kn2 +9
#EKn86 *D75
Par Kontr ut Res Poang Par Kontr ut Res Poang
444 424 6e V-2 &K 200 380.0 -380.0| 560 530 2v S+2 a2 170 245.0 -245.0
452 451 4y O-2 *8 200 380.0 -380.0| 657 646 2y N+2 +3 170 245.0 -245.0
544 559 4y O-2 *A 200 380.0 -380.0| 423 445 2v S+1 oA 140 196.0 -196.0
554 549 54 V-2 &K 200 380.0 -380.0| 454 449 3v S= +8 140 196.0 -196.0
421 447 5¢ V-1 ¢5 100 277.0 -277.0| 526 534 INS+1 »2 120 170.0 -170.0
423 445 5¢ V-1 *K 100 277.0 -277.0| 421 447 2y S= ¢2 110 150.0 -150.0
438 426 5¢ V-1 &K 100 277.0 -277.0| 425 443 2v S= v5 110 150.0 -150.0
453 450 5¢ V-1 &K 100 277.0 -277.0| 428 436 2v S= *4 110 150.0 -150.0
538 522 5¢ O-1 *A 100 277.0 -277.0| 431 459 2y S= *6 110 150.0 -150.0
558 545 44 V-1 &K 100 277.0 -277.0| 433 457 2v S= *4 110 150.0 -150.0
628 630 5¢ V-1 &K 100 277.0 -277.0| 444 424 2v S= *4 110 150.0 -150.0
660 629 5¢ V-1 *K 100 277.0 -277.0| 523 537 2y N= ¢3 110 150.0 -150.0
656 647 3# N-1 vQ -50 100.0 -100.0| 533 527 2v S= +8 110 150.0 -150.0
524 536 4# N-2 45 -100 42.0 -42.0| 544 559 2v S= &2 110 150.0 -150.0
622 636 44 N-2 *A -100 42.0 -42.0| 552 551 2v S= *2 110 150.0 -150.0
657 646 4% N-2 *A -100 42.0 -42.0| 553 550 2v S= *2 110 150.0 -150.0
431 459 2v O = 43 -110 41.0 -41.0| 624 634 2vS= v5 110 150.0 -150.0
422 446 3¢ V+1 ¢5 -130 -3.0 30| 628 630 2v S= *4 110 150.0 -150.0
425 443 2¢ V+2 &K -130 -3.0 30| 631 627 2v S= *4 110 150.0 -150.0
428 436 44 V= &K -130 -3.0 30| 637 621 2v S= s A 110 150.0 -150.0
429 435 24 V+2 *K -130 -3.0 30| 645 658 2v S= *4 110 150.0 -150.0
432 458 2¢ V +2 &K -130 -3.0 30| 652 651 2v S= +8 110 150.0 -150.0
433 457 4e V= &K -130 -3.0 30| 653 650 2v S= *4 110 150.0 -150.0
434 456 4¢ V= *K -130 -3.0 30| 656 647 2v S= 3 110 150.0 -150.0
448 455 3¢ V+1 &K -130 -3.0 30| 554 549 3¢ O-1 a2 100 145.0 -145.0
454 449 4e V= &K -130 -3.0 30| 622 636 3¢ O-1 43 100 145.0 -145.0
523 537 4e¢ V= *K -130 -3.0 30| 655 648 INO-1 v7 100 145.0 -145.0
525 535 3¢ V+1 ¢5 -130 -3.0 30| 529 531 1la N= v4 80 117.0 -117.0
526 534 4¢ V= &K -130 -3.0 30| 429 435 2vS-1 *4 -100 -104.0 104.0
533 527 4 V= *K -130 -3.0 30| 432 458 4v N-1 ¢3 -100 -104.0 104.0
553 550 3¢ V+1 &K -130 -3.0 30| 448 455 2vS-1 *2 -100 -104.0 104.0
557 546 3¢ V+1 &K -130 -3.0 30| 521 543 2vS-1 *4 -100 -104.0 104.0
560 530 4¢ V= *K -130 -3.0 30| 524 536 3vS-1 *2 -100 -104.0 104.0
631 627 3¢ V+1 &K -130 -3.0 30| 538 522 3vS-1 *4 -100 -104.0 104.0
649 654 3¢ V+1 &K -130 -3.0 30| 556 547 2vS-1 *4 -100 -104.0 104.0
653 650 4¢ V= &K -130 -3.0 30| 558 545 3vS-1 v5 -100 -104.0 104.0
655 648 3¢ V+1 &K -130 -3.0 30| 649 654 3v N-1 a2 -100 -104.0 104.0
548 555 3v O = *A -140 -7.0 70| 659 644 3vS-1 *2 -100 -104.0 104.0
556 547 2y O+1 v6 -140 -7.0 70| 660 629 3v S-1 v5 -100 -104.0 104.0
632 626 4% N-3 ¢A -150 -30.0 30.0| 434 456 3¢ O= v2 -110 -123.0 123.0
460 430 24 V+2 &K -170 -51.0 51.0| 438 426 3#V= *) -110 -123.0 123.0
552 551 1a V43 *K -170 -51.0 51.0| 557 546 3¢ O= *Q -110 -123.0 123.0
623 635 34 V+1 &K -170 -51.0 51.0| 632 626 3¢ O= 43 -110 -123.0 123.0
624 634 34 V+1 *K -170 -51.0 51.0| 422 446 4v S-2 *4 -200 -228.0 228.0
625 633 5# N-4 a7 -200 -87.0 87.0| 460 430 4v S-2 *2 -200 -228.0 228.0
637 621 5#DN -3 5 -500 -402.0 402.0| 532 528 3vS-2 *6 -200 -228.0 228.0
659 644 54D N-3 *2 -500 -402.0 402.0| 548 555 4v S-2 *2 -200 -228.0 228.0
652 651 4a4 V= *K -620 -468.0 468.0| 623 635 INS-2 *2 -200 -228.0 228.0
521 543 5#DN-4 vQ -800 -584.0 584.0| 625 633 2v S-2 *4 -200 -228.0 228.0
529 531 54DN-4 ¢ A -800 -584.0 584.0| 525 535 4v S-3 a2 -300 -335.0 335.0
532 528 5#DN -4 *J -800 -584.0 584.0| 452 451 4vyDS-2 ¢3 -500 -512.0 512.0
645 658 5#DN -4 a5 -800 -584.0 584.0| 453 450 2NDV = v6 -690 -603.0 603.0
427 - 29.3 427 - 29.3
21 « E1096 Basta kontrakt 22 « KD9 Basta kontrakt
Nord v D98 3NT N =600 Ost v Kn973 3NT S =400
NS ¢ DKn843 ov ¢ Kn754
*3 ¢ v aN *K6 & ¢ v & NT
«DKn43 482 N798899 47643 #E102 N9 9889
v1075  vKKn42 S798929 v10852 vK64 $998829
¢10965 +¢EK 054534 ¢ K1032 ¢ E9 044554
*Kn6 »D9872 V54534 *7 #98432 V44554
4 K75 « Kn85
vE6G3 vED
¢ 72 + D86
#EK1054 #EDKN105
Par Kontr ut Res Poang Par Kontr Ut Res Poang
533 529 3NDV -4 46 800 644.0 -644.0| 652 657 3NS+2 *3 460 97.0 -97.0
627 637 24D O -4 o7 800 644.0 -644.0| 658 651 3NS+2 v2 460 97.0 -97.0
522 544 24D O -2 46 300 310.0 -310.0| 660 632 3NS+2 v4 460 97.0 -97.0
628 636 24D O -2 o7 300 310.0 -310.0| 423 447 3NS+1 *2 430 47.0 -47.0
656 653 24D O -2 o7 300 310.0 -310.0| 432 459 3NS+1 ¢3 430 47.0 -47.0
659 650 2#D O -2 a2 300 310.0 -310.0| 460 431 3NS+1 v5 430 47.0 -47.0
648 622 2v O-4 *A 200 208.0 -208.0| 522 544 3NN+1 *2 430 47.0 -47.0
424 446 1INO-3 *4 150 150.0 -150.0| 524 538 3NS+1 46 430 47.0 -47.0
430 436 2y O-3 v2 150 150.0 -150.0| 526 536 3NS+1 a4 430 47.0 -47.0
460 431 2N S+1 *J 150 150.0 -150.0| 533 529 3NS+1 *2 430 47.0 -47.0
558 547 2N S+1 *) 150 150.0 -150.0| 543 523 3NS+1 *2 430 47.0 -47.0
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434 457 1a N +2 ¢ A 140 141.0 -141.0( 549 556 3NS+1 46 430 47.0 -47.0
549 556 24 N +1 aA 140 141.0 -141.0( 555 550 3NS+1 v5 430 47.0 -47.0
555 550 2¢ N+2 48 130 124.0 -124.0( 557 548 3NS+1 3 430 47.0 -47.0
428 438 24 S= *J 110 91.0 -91.0| 558 547 3NS+1 v5 430 47.0 -47.0
435 456 2# O -2 a5 100 80.0 -80.0| 623 647 3NS+1 v5 430 47.0 -47.0
445 425 2v V-2 &3 100 80.0 -80.0| 628 636 3NS+1 2 430 47.0 -47.0
449 421 24D O-1 ¢7 100 80.0 -80.0| 646 624 3NS+1 v5 430 47.0 -47.0
455 450 INO-2 &4 100 80.0 -80.0| 648 622 3NS+1 v5 430 47.0 -47.0
534 528 1v O-2 v3 100 80.0 -80.0| 656 653 3NN +1 +5 430 47.0 -47.0
554 551 2v O-2 v2 100 80.0 -80.0| 422 448 3NS= v8 400 -4.0 4.0
621 649 1v O-2 ¢7 100 80.0 -80.0| 424 446 3NS= v5 400 -4.0 4.0
658 651 24D O-1 ¢7 100 80.0 -80.0| 426 444 3NN= »2 400 -4.0 4.0
423 447 INS= &5 90 75.0 -75.0| 428 438 3NS= &7 400 -4.0 4.0
433 458 2& S = 43 90 75.0 -75.0| 430 436 3NS= v5 400 -4.0 4.0
454 451 24 N= ¢+ A 90 75.0 -75.0| 433 458 3NS= vT 400 -4.0 4.0
525 537 2¢ N= »8 90 75.0 -75.0| 434 457 3NS= v5 400 -4.0 4.0
625 645 INS= *J 90 75.0 -75.0| 443 427 3NS= 43 400 -4.0 4.0
626 644 24 S = «Q 90 75.0 -75.0| 445 425 3NS= v5 400 -4.0 4.0
652 657 INS= v5 90 75.0 -75.0| 449 421 3NS= v5 400 -4.0 4.0
426 444 INO-1 &4 50 15.0 -15.0| 453 452 3NS= a4 400 -4.0 4.0
453 452 140-1 ¢7 50 15.0 -15.0| 454 451 3NS= v5 400 -4.0 4.0
432 459 2&S-1 a2 -100 -156.0 156.0| 455 450 3NS-= v5 400 -4.0 4.0
526 536 2N S-1 LN -100 -156.0 156.0| 525 537 3NS= a7 400 -4.0 4.0
553 552 2NS-1 va -100 -156.0 156.0| 527 535 3NS= +3 400 -4.0 4.0
559 546 2& N-1 ¢+ K -100 -156.0 156.0| 530 532 3NS-= v5 400 -4.0 4.0
623 647 2NS-1 +Q -100 -156.0 156.0| 534 528 3NS-= 46 400 -4.0 4.0
635 629 2&#S-1 *T -100 -156.0 156.0| 545 521 3NS= 3 400 -4.0 4.0
646 624 24 S-1 v5 -100 -156.0 156.0| 553 552 3NS-= v5 400 -4.0 4.0
655 654 2&S-1 v5 -100 -156.0 156.0| 554 551 3NS-= v5 400 -4.0 4.0
660 632 3NS-1 3 -100 -156.0 156.0| 560 531 3NS= v5 400 -4.0 4.0
422 448 24 S -2 *6 -200 -270.0 270.0| 621 649 3NS= v2 400 -4.0 4.0
524 538 2&S-2 *T -200 -270.0 270.0| 625 645 3NS= a4 400 -4.0 4.0
527 535 3NS-2 LN -200 -270.0 270.0| 626 644 3NS= v5 400 -4.0 4.0
543 523 24 N-2 48 -200 -270.0 270.0| 627 637 3NS= v5 400 -4.0 4.0
634 630 2N S-2 a4 -200 -270.0 270.0| 631 633 3NS= a7 400 -4.0 4.0
443 427 3NN-3 »2 -300 -379.0 379.0| 634 630 3NS= 3 400 -4.0 4.0
530 532 3NS-3 vJ] -300 -379.0 379.0| 635 629 3NS= v8 400 -4.0 4.0
545 521 3NN-3 48 -300 -379.0 379.0| 659 650 3NS= 42 400 -4.0 4.0
557 548 3NN-3 8 -300 -379.0 379.0| 435 456 INS+3 +3 180 -294.0 294.0
560 531 3NS-3 *J -300 -379.0 379.0| 655 654 2NS+1 v5 150 -314.0 314.0
631 633 3NS-3 a4 -300 -379.0 379.0| 559 546 2# N +1 LY 110 -366.0 366.0
429 - 67.8 429 - 67.8
23 a7 Basta kontrakt 24 4« KDKn Basta kontrakt
Syd v EKKn753 2v S =110 Vast v4 5& N =400
Alla * K2 Ingen ¢+ ED4
#KD53 & ¢ v & NT #KD9762 & ¢ v &N
4 EKn5 410962 N7 6 86 7 498 4107542 N 118 8 8 9
vD108 v42 S76867 vDKn1065 vE7 S 118 8 8 9
¢ EKn43 ¢ D75 06 7 365 ¢ KKn2 + 9865 024542
#E96 #Kn842 V6746F6 #E85 +Kn4 V24542
« KD843 « E6G3
v 96 v K9832
+ 10986 ¢ 1073
»107 #103
Par Kontr ut Res Poang Par Kontr ut Res Poang
558 549 3NDV -2 vA 500 442.0 -442.0( 630 632 3vDV-4 + K 800 556.0 -556.0
454 453 2v N +3 46 200 122.0 -122.0| 435 457 3NDS= vQ 550 373.0 -373.0
531 533 INV-2 vA 200 122.0 -122.0( 430 438 2vyDV-3 &K 500 332.0 -332.0
544 524 INDV-1 vA 200 122.0 -122.0 523 545 2vyDV-3 + K 500 332.0 -332.0
560 532 INDV-1 vA 200 122.0 -122.0( 433 459 3NS+1 vQ 430 250.0 -250.0
657 650 INDV-1 vA 200 122.0 -122.0( 425 447 3NN-= a4 400 218.0 -218.0
423 449 3v N +1 aT 170 77.0 -77.0| 427 445 3NS= vQ 400 218.0 -218.0
425 447 2v N +2 aT 170 77.0 -77.0| 434 458 3NN-= a2 400 218.0 -218.0
444 428 3v S +1 ¢ A 170 77.0 -77.0| 436 456 3NS= vQ 400 218.0 -218.0
455 452 2v N +2 46 170 77.0 -77.0| 446 426 3NS= vQ 400 218.0 -218.0
460 432 3v N +1 aT 170 77.0 -77.0| 454 453 3NS= vQ 400 218.0 -218.0
521 547 3v S+1 &A 170 77.0 -77.0| 521 547 3NS= vQ 400 218.0 -218.0
526 538 3v N+1 &4 170 77.0 -77.0| 528 536 3NS-= vQ 400 218.0 -218.0
527 537 2v N +2 aT 170 77.0 -77.0| 544 524 3NS= vQ 400 218.0 -218.0
528 536 3v N+1 &4 170 77.0 -77.0| 554 553 3NS-= vQ 400 218.0 -218.0
559 548 3v N +1 +5 170 77.0 -77.0| 559 548 3NS-= 49 400 218.0 -218.0
624 644 2v N +2 a2 170 77.0 -77.0| 560 532 3NS-= vQ 400 218.0 -218.0
625 637 3v N+1 a5 170 77.0 -77.0| 625 637 3NS= vQ 400 218.0 -218.0
627 635 3v N+1 46 170 77.0 -77.0| 627 635 3NS= vQ 400 218.0 -218.0
630 632 3v N+1 aT 170 77.0 -77.0| 646 622 3NS= vQ 400 218.0 -218.0
659 648 2v N +2 »2 170 77.0 -77.0| 657 650 3NS= vQ 400 218.0 -218.0
427 445 2v N +1 43 140 27.0 -27.0| 660 631 1vDV-2 a K 300 98.0 -98.0
430 438 3v N= +3 140 27.0 -27.0| 421 451 34 O- &T 250 35.0 -35.0
433 459 2v N +1 46 140 27.0 -27.0| 535 529 2# N +3 vA 150 -77.0 77.0
434 458 2v N +1 aT 140 27.0 -27.0| 558 549 2# N +3 vA 150 -77.0 77.0
435 457 2v N +1 aT 140 27.0 -27.0| 624 644 2# N +3 vA 150 -77.0 77.0
450 422 3y N= v4 140 27.0 -27.0| 450 422 2# N +2 vA 130 -111.0 111.0
523 545 2v N+1 v4 140 27.0 -27.0| 455 452 2# N +2 vA 130 -111.0 111.0
534 530 2v N+1 aT 140 27.0 -27.0| 460 432 2# N +2 vA 130 -111.0 111.0
546 522 3y N= ¢+5 140 27.0 -27.0| 527 537 2# N +2 vA 130 -111.0 111.0
555 552 2v N+1 +5 140 27.0 -27.0| 531 533 3&# N+1 a2 130 -111.0 111.0
634 628 2v N+1 &4 140 27.0 -27.0| 546 522 2# N +2 vA 130 -111.0 111.0
645 623 2v N+1 a) 140 27.0 -27.0| 647 621 2# N+2 vA 130 -111.0 111.0
646 622 2v N +1 +5 140 27.0 -27.0| 651 656 2# N +2 vA 130 -111.0 111.0
647 621 3y N= &4 140 27.0 -27.0| 654 653 2# N +2 vA 130 -111.0 111.0
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655 652 2v N +1 46 140 27.0 -27.0| 658 649 2# N +2 vA 130 -111.0 111.0
658 649 2v N +1 #3 140 27.0 -27.0| 550 557 2# N +1 vA 110 -137.0 137.0
660 631 3y N= ¢+5 140 27.0 -27.0| 555 552 2& N +1 vA 110 -137.0 137.0
429 443 2y N= aT 110 -25.0 250 626 636 3# N= a2 110 -137.0 137.0
436 456 2y N= 46 110 -25.0 250 633 629 2& N+1 +9 110 -137.0 137.0
535 529 2y N= v4 110 -25.0 25.0| 634 628 2# N +1 +6 110 -137.0 137.0
550 557 2y N= 46 110 -25.0 25.0( 424 448 1vyDV-1 &K 100 -143.0 143.0
633 629 2y N= aT 110 -25.0 250 655 652 2& N= a2 90 -148.0 148.0
446 426 2¢ V-1 vA 100 -25.0 25.0| 444 428 3NS-1 vQ -50 -315.0 315.0
424 448 3y N-1 a4 -100 -276.0 276.0| 526 538 3NS-1 vQ -50 -315.0 315.0
525 543 3y N-1 ¢+5 -100 -276.0 276.0| 556 551 3NS-1 vQ -50 -315.0 315.0
554 553 3v S-1 »2 -100 -276.0 276.0| 645 623 34 N-1 LY -50 -315.0 315.0
556 551 3y N-1 aT -100 -276.0 276.0| 659 648 3NS-1 vQ -50 -315.0 315.0
626 636 3v N-1 ¢+5 -100 -276.0 276.0| 423 449 3NS-2 vQ -100 -373.0 373.0
654 653 4v N-1 aT -100 -276.0 276.0| 429 443 3NS-2 vQ -100 -373.0 373.0
421 451 3NN-2 aT -200 -385.0 385.0( 525 543 1lvyDV= &K -160 -413.0 413.0
651 656 2& N -3 46 -300 -475.0 4750 534 530 1lvyDV= « K -160 -413.0 413.0
431 - -0.9 431 - -0.9
25 4« KKn8 Basta kontrakt 26 410852 Basta kontrakt
Nord vE105 3NT N =400 Ost v K92 44 N =620
oV ¢ EKn2 Alla ¢ D54
#D652 & ¢ v & NT &E72 & ¢ v & NT
432 4109754 N 106 9 8 9 « D97 464 N6 7 9 108
vDKn97 v86 S 106 9 8 9 v Kn7 vD108 S669 938
¢+ D765 ¢ K1083 036 454 + Kn962 ¢ K1073 06 6 435
#K83 +Kn4 V 36454 #D853 #K1096 V66 435
« ED6 « EKKn3
v K432 v E6543
¢+ 94 ¢+ E8
#E1097 &Kn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
421 453 3NN +2 a5 460 167.0 -167.0( 536 530 44 N+1 a4 650 338.0 -338.0
524 546 3NN +2 a5 460 167.0 -167.0( 560 533 44 N+1 *7 650 338.0 -338.0
424 450 3NN +1 a4 430 115.0 -115.0( 650 624 44 N+1 *7 650 338.0 -338.0
425 449 3NN +1 a5 430 115.0 -115.0( 424 450 44 S= +6 620 288.0 -288.0
426 448 3NN +1 a4 430 115.0 -115.0 | 425 449 44 N= 46 620 288.0 -288.0
428 446 3NN +1 3 430 115.0 -115.0 [ 428 446 44 N= 46 620 288.0 -288.0
432 438 3NN +1 aT 430 115.0 -115.0( 431 443 4y N= ¢7 620 288.0 -288.0
445 429 3NN +1 aT 430 115.0 -115.0 | 432 438 44 N= &T 620 288.0 -288.0
455 454 3NN +1 aT 430 115.0 -115.0( 436 457 4y S= a7 620 288.0 -288.0
532 534 3NN+1 a2 430 115.0 -115.0( 455 454 44 N= *9 620 288.0 -288.0
551 558 3NN +1 46 430 115.0 -115.0( 522 548 4y S= a7 620 288.0 -288.0
622 652 3NN +1 a5 430 115.0 -115.0( 526 544 44 N= v8 620 288.0 -288.0
623 651 3NN +1 v8 430 115.0 -115.0( 527 543 44 N= *9 620 288.0 -288.0
627 647 3NN+1 a4 430 115.0 -115.0( 528 538 44 N= *9 620 288.0 -288.0
658 655 3NN +1 a5 430 115.0 -115.0( 532 534 44 N= +4 620 288.0 -288.0
660 634 3NN +1 aT 430 115.0 -115.0( 535 531 44 N= *9 620 288.0 -288.0
422 452 3NN-= LY 400 72.0 -72.0| 547 523 4y S= 4Q 620 288.0 -288.0
431 443 3NN= oT 400 72.0 -72.0| 559 550 44 S= &5 620 288.0 -288.0
434 459 3NN = a4 400 72.0 -72.0| 622 652 44 N= 46 620 288.0 -288.0
435 458 3NN = a5 400 72.0 -72.0| 625 649 44 S= &5 620 288.0 -288.0
436 457 3NN-= oT 400 72.0 -72.0| 627 647 44 N= a4 620 288.0 -288.0
447 427 3NN-= aT 400 72.0 -72.0| 628 646 44 S= +6 620 288.0 -288.0
451 423 3NN-= aT 400 72.0 -72.0| 630 644 44 N= *9 620 288.0 -288.0
460 433 3NN-= oT 400 72.0 -72.0| 636 632 44 S= &5 620 288.0 -288.0
521 549 3NN-= a4 400 72.0 -72.0| 637 631 44 N= 46 620 288.0 -288.0
522 548 3NN-= a4 400 72.0 -72.0| 658 655 44 S= vJ 620 288.0 -288.0
526 544 3NN-= v8 400 72.0 -72.0| 660 634 44 S= &5 620 288.0 -288.0
527 543 3NN= a4 400 72.0 -72.0| 451 423 3NN= ¢+5 600 260.0 -260.0
528 538 3NN-= a5 400 72.0 -72.0| 421 453 44 N-1 46 -100 -333.0 333.0
529 537 3NN= a4 400 72.0 -72.0| 422 452 4v S-1 +6 -100 -333.0 333.0
535 531 3NN= a4 400 72.0 -72.0| 426 448 4v S-1 &5 -100 -333.0 333.0
536 530 3NN-= a4 400 72.0 -72.0| 430 444 4y N-1 3 -100 -333.0 333.0
547 523 3NN-= a4 400 72.0 -72.0| 434 459 4v S-1 +4 -100 -333.0 333.0
555 554 3NN-= 46 400 72.0 -72.0| 435 458 4v S-1 &3 -100 -333.0 333.0
557 552 3NN-= a4 400 72.0 -72.0| 445 429 4v N-1 46 -100 -333.0 333.0
559 550 3NN-= a7 400 72.0 -72.0| 460 433 4v S-1 +6 -100 -333.0 333.0
560 533 3NN-= a4 400 72.0 -72.0| 521 549 4v S-1 &5 -100 -333.0 333.0
621 653 3NN-= oT 400 72.0 -72.0| 524 546 4v S-1 *3 -100 -333.0 333.0
625 649 3NN-= 49 400 72.0 -72.0| 529 537 4v N-1 46 -100 -333.0 333.0
629 645 3NN-= a7 400 72.0 -72.0| 545 525 4v N-1 &5 -100 -333.0 333.0
636 632 3NN-= oT 400 72.0 -72.0| 551 558 4y N-1 46 -100 -333.0 333.0
637 631 3NN-= a2 400 72.0 -72.0| 555 554 4v S-1 &3 -100 -333.0 333.0
657 656 3NN = a4 400 72.0 -72.0| 556 553 4v S-1 v] -100 -333.0 333.0
430 444 3NN-1 aT -50 -432.0 432.0| 557 552 4v S-1 +Q -100 -333.0 333.0
545 525 3NN-1 +3 -50 -432.0 4320 621 653 4v S-1 v7 -100 -333.0 333.0
556 553 3NN-1 aT -50 -432.0 432.0( 623 651 44 N-1 a4 -100 -333.0 333.0
628 646 3NN-1 a4 -50 -432.0 432.0| 629 645 4v S-1 &5 -100 -333.0 333.0
630 644 3NN-1 v8 -50 -432.0 432.0( 633 635 44 N-1 8 -100 -333.0 333.0
633 635 3NN-1 a4 -50 -432.0 432.0( 654 659 4v S-1 &5 -100 -333.0 333.0
648 626 3NN-1 @3 -50 -432.0 4320 657 656 4v S-1 +6 -100 -333.0 333.0
650 624 3NN-1 oT -50 -432.0 432.0 | 447 427 44 N-2 29 -200 -430.0 430.0
654 659 3NN-1 v8 -50 -432.0 432.0| 648 626 6¥ N-2 46 -200 -430.0 430.0
- 456 -46.1 - 456 -46.1
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27 #9652 Béasta kontrakt 28 410765 Basta kontrakt
Syd v 953 74 V =-1510 Vast vK4 6NT V =-990
Ingen ¢ K754 NS ¢ D1042
86 & ¢ v &4 NT #1042 & ¢ v & NT
4 EKD1073 #Kn84 N7 2001 4ED84 4 KKn93 N56000
v 864 v EKDKn S72001 v752  vEDKn1098 $S$56 000
*2 + EKn10983 O 6 11131312 ¢K76 +38 07 7 121212
&E74 *- V 6 11121312 D97 &EK vV 77 121212
a- a2
v 1072 v 63
+ D6 ¢ EKn953
#KDKn109532 #Kn8653
Par Kontr ut Res Poang Par Kontr ut Res Poang
624 648 7¢ O-2 *8 100 767.0 -767.0| 436 458 6v O-2 a2 100 583.0 -583.0
429 447 54 V +2 *8 -510 556.0 -556.0 | 621 651 64 V-2 v4 100 583.0 -583.0
431 445 44 V43 *8 -510 556.0 -556.0 | 427 449 5v O-1 43 50 552.0 -552.0
635 631 44 V43 *8 -510 556.0 -556.0 | 438 456 6v O-1 *A 50 552.0 -552.0
522 550 6e V= *8 -980 215.0 -215.0| 629 637 5v O-1 a5 50 552.0 -552.0
557 554 64 V= 43 -980 215.0 -215.0| 546 526 3v V+3 a7 -230 353.0 -353.0
423 453 64 O+1 8 -1010 186.0 -186.0 | 525 547 2NO +4 8 -240 341.0 -341.0
426 450 64 V+1 *4 -1010 186.0 -186.0| 448 428 4v O= a2 -420 174.0 -174.0
427 449 64 V+1 *8 -1010 186.0 -186.0| 425 451 5v V= ¢3 -450 141.0 -141.0
432 444 64 V +1 *8 -1010 186.0 -186.0| 435 459 5v O= 43 -450 141.0 -141.0
433 443 64 V+1 a2 -1010 186.0 -186.0| 446 430 5v V= *4 -450 141.0 -141.0
446 430 64 V+1 *8 -1010 186.0 -186.0| 460 434 5v O= a2 -450 141.0 -141.0
460 434 64 V+1 *8 -1010 186.0 -186.0 | 657 654 4v O+1 a2 -450 141.0 -141.0
523 549 64 V+1 a5 -1010 186.0 -186.0 | 421 455 44 V +2 *4 -480 111.0 -111.0
525 547 64 V+1 *8 -1010 186.0 -186.0| 429 447 5v O+1 a2 -480 111.0 -111.0
530 538 64 V+1 8 -1010 186.0 -186.0| 452 424 44 O+2 3 -480 111.0 -111.0
533 535 64 V+1 8 -1010 186.0 -186.0| 529 543 44 V+2 *T -480 111.0 -111.0
536 532 64 V+1 46 -1010 186.0 -186.0 | 557 554 5v V+1 ¢6 -480 111.0 -111.0
546 526 64 V+1 8 -1010 186.0 -186.0 | 558 553 4a V+2 2 -480 111.0 -111.0
548 524 64 V+1 v3 -1010 186.0 -186.0| 560 534 44 V+2 *4 -480 111.0 -111.0
552 559 6e V+1 *8 -1010 186.0 -186.0| 622 650 44 V+2 ¢4 -480 111.0 -111.0
558 553 6e V+1 8 -1010 186.0 -186.0| 626 646 5v O+1 ¢ A -480 111.0 -111.0
622 650 64 V+1 8 -1010 186.0 -186.0 | 627 645 5v O +1 a2 -480 111.0 -111.0
629 637 64 V+1 *6 -1010 186.0 -186.0| 628 644 4y O+2 a2 -480 111.0 -111.0
649 623 64 V+1 8 -1010 186.0 -186.0| 632 634 5v V+1 ¢ A -480 111.0 -111.0
653 658 64 V+1 v3 -1010 186.0 -186.0 | 649 623 5v O +1 +3 -480 111.0 -111.0
656 655 64 V+1 *8 -1010 186.0 -186.0 | 660 633 44 V +2 ¢4 -480 111.0 -111.0
660 633 64 V+1 8 -1010 186.0 -186.0 | 422 454 4y O +3 a2 -510 71.0 -71.0
626 646 64DV +1 8 -1310 -122.0 122.0| 423 453 4y O+3 a5 -510 71.0 -71.0
448 428 7#DS -6 a A -1400 -215.0 215.0| 426 450 5v O +2 a2 -510 71.0 -71.0
421 455 74 V= *8 -1510 -331.0 331.0| 530 538 4v O+3 a2 -510 71.0 -71.0
422 454 T4 V= *8 -1510 -331.0 331.0| 537 531 5v O+2 46 -510 71.0 -71.0
425 451 74 V= a2 -1510 -331.0 331.0| 635 631 5v O+2 a2 -510 71.0 -71.0
435 459 74 V= *8 -1510 -331.0 331.0| 636 630 4v O+3 a2 -510 71.0 -71.0
438 456 74 V= a4 -1510 -331.0 331.0| 653 658 5v O+2 a2 -510 71.0 -71.0
452 424 T4 V= *8 -1510 -331.0 331.0| 656 655 44 V+3 a5 -510 71.0 -71.0
521 551 74 V= *8 -1510 -331.0 331.0| 431 445 6v O= *A -980 -396.0 396.0
527 545 74 V= v9 -1510 -331.0 331.0| 432 444 64 V= *T -980 -396.0 396.0
529 543 74 V= *8 -1510 -331.0 331.0| 433 443 64 V= +4 -980 -396.0 396.0
537 531 74 V= a2 -1510 -331.0 331.0| 527 545 64 V= &T -980 -396.0 396.0
556 555 74 V= *8 -1510 -331.0 331.0| 528 544 64 V= *4 -980 -396.0 396.0
560 534 74 V= *4 -1510 -331.0 3310 533 535 64 V= +4 -980 -396.0 396.0
621 651 74 V= *8 -1510 -331.0 331.0| 624 648 64 O= *A -980 -396.0 396.0
627 645 74 V= *8 -1510 -331.0 331.0| 521 551 6e V+1 46 -1010 -424.0 424.0
628 644 74 V= *8 -1510 -331.0 331.0| 522 550 6v O+1 *5 -1010 -424.0 424.0
632 634 74 V= *8 -1510 -331.0 331.0( 523 549 64 V+1 a7 -1010 -424.0 424.0
636 630 74 V= *8 -1510 -331.0 331.0| 536 532 64 V+1 L) -1010 -424.0 424.0
647 625 74 V= *8 -1510 -331.0 331.0| 548 524 64 V+1 a5 -1010 -424.0 424.0
657 654 74 V= *8 -1510 -331.0 331.0( 552 559 64 V+1 a5 -1010 -424.0 424.0
659 652 74 V= *2 -1510 -331.0 331.0| 556 555 64 V+1 &2 -1010 -424.0 424.0
436 458 5# N +1 a5 420>a 10.0 -10.0| 647 625 64 V+1 46 -1010 -424.0 424.0
528 544 6¢ N-1 v5 -50>a -10.0 10.0| 659 652 64 V+1 *2 -1010 -424.0 424.0
- 457 14 - 457 14
29 « EDKn93 Basta kontrakt 30 «D1052 Basta kontrakt
Nord v762 5¢ N =600 Ost v KDKn86 3NT S =400
Alla ¢ ED42 Ingen + 1072
+10 ¢ v & NT *4 % ¢ v & NT
4K1072 485 N5 115 9 7 9 & KKn643 N6 86 89
v KKn v ED9853 S 5 115 9 7 v 975 vE1032 S58689
5 +63 070743 ¢ Kn93 ¢ EK 06 4454
#K98542 #Kn63 V70743 #Kn98632 #105 V64454
464 « E87
v 104 v4
¢ KKn10987 + D8654
*ED7 #EKD7
Par Kontr ut Res Poang Par Kontr Ut Res Poang
524 550 3N S +4 &4 720 364.0 -364.0| 428 450 34D O-3 *A 500 490.0 -490.0
434 444 5¢ S+2 7 640 289.0 -289.0| 644 634 3NN+1 *5 430 428.0 -428.0
443 456 5¢ S +2 *3 640 289.0 -289.0| 652 626 3NN+1 a2 430 428.0 -428.0
523 551 5¢ N+2 &5 640 289.0 -289.0| 656 622 3NN= &T 400 411.0 -411.0
534 536 5¢ S+2 8 640 289.0 -289.0| 659 658 3NN-= &T 400 411.0 -411.0
433 445 3NS+1 *5 630 280.0 -280.0| 660 636 3NS= *2 400 411.0 -411.0
624 654 3N S +1 *3 630 280.0 -280.0| 631 647 2NS+2 *8 180 186.0 -186.0
424 454 5¢ N+1 *T 620 276.0 -276.0 | 427 451 INS+2 3 150 140.0 -140.0
530 544 5¢ N+1 3 620 276.0 -276.0 | 430 448 2N S+1 *2 150 140.0 -140.0
632 646 5¢ N+1 vA 620 276.0 -276.0| 447 431 2vO-3 *A 150 140.0 -140.0
650 628 5¢ N+1 +6 620 276.0 -276.0| 453 425 3¢ S+1 +3 130 124.0 -124.0
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423 455 5¢ N= vA 600 248.0 -248.0| 522 552 3¢ N+1 ¢ A 130 124.0 -124.0
453 425 5¢ N= vA 600 248.0 -248.0| 528 546 3¢ S+1 49 130 124.0 -124.0
460 435 3NS= &5 600 248.0 -248.0| 630 648 3¢ S+1 a2 130 124.0 -124.0
528 546 3NS= *2 600 248.0 -248.0| 635 637 2NS= 3 120 119.0 -119.0
529 545 5¢ S= vK 600 248.0 -248.0| 433 445 3¢ S= 49 110 86.0 -86.0
537 533 5¢ S= +5 600 248.0 -248.0 | 460 435 3¢ N= +K 110 86.0 -86.0
547 527 5¢ N= 3 600 248.0 -248.0| 523 551 3¢ S= 49 110 86.0 -86.0
549 525 5¢ N= +3 600 248.0 -248.0| 526 548 3¢ S= 49 110 86.0 -86.0
560 535 3NS= *4 600 248.0 -248.0| 553 521 3¢ S= &3 110 86.0 -86.0
629 649 5¢ N= vA 600 248.0 -248.0| 537 533 14 O-1 v4 50 22.0 -22.0
635 637 5¢ N= ¢ A 600 248.0 -248.0| 629 649 14 O-1 v4 50 22.0 -22.0
644 634 5¢ S= +5 600 248.0 -248.0 | 423 455 3¢ S-1 49 -50 -97.0 97.0
645 633 5¢ S= vK 600 248.0 -248.0| 424 454 3¢ S-1 49 -50 -97.0 97.0
652 626 5¢ S= *5 600 248.0 -248.0| 432 446 3¢ S-1 49 -50 -97.0 97.0
656 622 5¢ S= vK 600 248.0 -248.0| 434 444 3¢ S-1 49 -50 -97.0 97.0
449 429 3¢ S+4 «5 190 -172.0 172.0| 436 459 3¢ S-1 49 -50 -97.0 97.0
526 548 3¢ N+4 +6 190 -172.0 172.0| 529 545 34 S-1 49 -50 -97.0 97.0
553 521 34 S+4 *4 190 -172.0 172.0| 531 543 3¢ S-1 49 -50 -97.0 97.0
558 555 3¢ S+4 ¢+5 190 -172.0 172.0| 534 536 2y N-1 ¢ A -50 -97.0 97.0
559 554 3¢ S+4 *5 190 -172.0 172.0| 538 532 34 S-1 49 -50 -97.0 97.0
625 653 3¢ N+4 +5 190 -172.0 172.0| 549 525 3¢ S-1 49 -50 -97.0 97.0
630 648 4¢ N+3 2 190 -172.0 172.0| 625 653 3NN-1 43 -50 -97.0 97.0
621 657 3¢ N+3 3 170 -199.0 199.0| 632 646 34 S-1 49 -50 -97.0 97.0
422 421 4¢ N+1 3 150 -217.0 2170( 645 633 14 O= &K -80 -138.0 138.0
436 459 3¢ S+2 vK 150 -217.0 2170 426 452 3¢ S-2 49 -100 -174.0 174.0
531 543 4¢ N+1 vA 150 -217.0 217.0| 443 456 3NDN-1 3 -100 -174.0 174.0
623 655 4¢ S+1 vK 150 -217.0 217.0| 449 429 44 S-2 49 -100 -174.0 174.0
659 658 4¢ N+1 v5 150 -217.0 217.0( 524 550 3¢ S-2 49 -100 -174.0 174.0
426 452 34 N= ¢4 140 -228.0 228.0( 530 544 3¢ S-2 49 -100 -174.0 174.0
428 450 34 N= vA 140 -228.0 228.0( 547 527 3¢ S-2 49 -100 -174.0 174.0
432 446 24 N+1 +6 140 -228.0 228.0 557 556 3NN-2 43 -100 -174.0 174.0
522 552 24 N+1 8 140 -228.0 228.0 558 555 3¢ S-2 49 -100 -174.0 174.0
427 451 44 S-1 3 -100 -417.0 417.0| 621 657 3¢ S-2 49 -100 -174.0 174.0
438 457 6¢ S-1 a7 -100 -417.0 417.0| 623 655 3¢ S-2 49 -100 -174.0 174.0
447 431 2v S-1 ¢+5 -100 -417.0 417.0| 624 654 3¢ S-2 46 -100 -174.0 174.0
627 651 44 N-1 3 -100 -417.0 417.0| 650 628 3NS-2 49 -100 -174.0 174.0
631 647 44 N-1 +6 -100 -417.0 417.0| 627 651 2v O= +K -110 -182.0 182.0
660 636 6¢ S-1 vK -100 -417.0 417.0| 438 457 64 N- 3 -150 -234.0 234.0
430 448 44 N-2 +6 -200 -501.0 501.0( 559 554 3NS-3 49 -150 -234.0 234.0
538 532 3NN-2 v9 -200 -501.0 501.0( 560 535 3NN-3 &T -150 -234.0 234.0
- 458 -64.7 - 458 -64.7
557 556 A+/A+ 78.0 78.0 | 422 421 A+/A+ 78.0 78.0
31 4 Kn1096 Basta kontrakt 32 « KDKn85 Basta kontrakt
Syd v 108654 5NT O =-460 Vast vKn 74 V D -7 2000
NS ¢ Knl0 ov +1098754
*97 & ¢ v & NT *7 & ¢ v & NT
« KD43 « E82 N42622 21072 &E6 N18061
vE7 vD9 S42622 vED76 vK10954 S$18061
¢ EKD972 +64 09 116 1111 +D + E6G3 O 124 136 12
*3 #K106542 vV 9 106 1110 #EKD32 #Knl109 V 124 136 12
475 4943
v KKn32 v 832
¢ 853 ¢ KKn2
#EDKnN8 #8654
Par Kontr ut Res Poang Par Kontr ut Res Poang
427 453 6¢ V-3 +J 150 498.0 -498.0 | 423 422 4v V +3 &7 -710 321.0 -321.0
429 451 3NV-3 v4 150 498.0 -498.0| 424 421 4y O+3 43 -710 321.0 -321.0
448 432 64 V-2 v4 100 457.0 -457.0 | 427 453 4y O +3 a5 -710 321.0 -321.0
530 546 6¢ V-2 L) 100 457.0 -457.0| 428 452 5v O +2 3 -710 321.0 -321.0
624 652 6¢ V-2 L) 100 457.0 -457.0| 429 451 4y O+3 49 -710 321.0 -321.0
649 627 5¢DV-1 v8 100 457.0 -457.0| 433 447 4v V +3 aK -710 321.0 -321.0
659 656 5% V-2 L) 100 457.0 -457.0| 438 458 5v O +2 +K -710 321.0 -321.0
660 635 6¢ V-2 *9 100 457.0 -457.0| 448 432 4y V+3 *7 -710 321.0 -321.0
550 526 5¢ O-1 L) 50 418.0 -418.0| 521 555 5v O+2 &5 -710 321.0 -321.0
559 556 5¢ V-1 vT 50 418.0 -418.0| 523 553 4v V +3 oK -710 321.0 -321.0
425 455 3¢ V+1 *9 -130 250.0 -250.0 | 524 552 5v O+2 a4 -710 321.0 -321.0
521 555 1¢ V+4 L) -150 225.0 -225.0| 529 547 5v O+2 a4 -710 321.0 -321.0
450 430 3NV= L) -400 -48.0 48.0| 530 546 4y V+3 oK -710 321.0 -321.0
543 533 5¢ V= L) -400 -48.0 48.0| 538 534 5v V+2 oK -710 321.0 -321.0
428 452 44 V= v4 -420 -89.0 89.0| 543 533 5v O+2 a2 -710 321.0 -321.0
525 551 44 V= +J -420 -89.0 89.0| 554 522 5v O+2 49 -710 321.0 -321.0
628 648 44 V= v4 -420 -89.0 89.0| 558 557 4v V+3 oK -710 321.0 -321.0
637 633 44 O= a7 -420 -89.0 89.0| 559 556 5v V+2 «K -710 321.0 -321.0
431 449 3NV +1 v4 -430 -89.0 89.0| 626 650 4v V+3 oK -710 321.0 -321.0
433 447 3NO+1 a7 -430 -89.0 89.0| 629 647 5v O+2 49 -710 321.0 -321.0
435 445 3NV +1 LX) -430 -89.0 89.0| 630 646 4y O+3 «K -710 321.0 -321.0
438 458 3N O +1 2A -430 -89.0 89.0| 631 645 4y O+3 43 -710 321.0 -321.0
444 456 3N O +1 a7 -430 -89.0 89.0| 651 625 4y O+3 ¢2 -710 321.0 -321.0
454 426 3NV +1 L) -430 -89.0 89.0| 655 621 4v V+3 «K -710 321.0 -321.0
524 552 3NO+1 5 -430 -89.0 89.0| 658 657 5v O+2 43 -710 321.0 -321.0
548 528 3N O +1 ¢3 -430 -89.0 89.0| 660 635 4y O+3 3 -710 321.0 -321.0
630 646 3NO+1 v4 -430 -89.0 89.0| 560 536 64DN -6 LN -1400 -235.0 235.0
631 645 3NO+1 v4 -430 -89.0 89.0| 531 545 6y O= 3 -1430 -256.0 256.0
658 657 3NV +1 L) -430 -89.0 89.0| 644 632 6y O= ¢+K -1430 -256.0 256.0
424 421 44 O +1 v4 -450 -132.0 132.0| 425 455 6y V+1 &7 -1460 -303.0 303.0
529 547 44 O+1 ¢ A -450 -132.0 132.0| 431 449 6y O+1 43 -1460 -303.0 303.0
538 534 44 O+1 *A -450 -132.0 132.0 435 445 6v O+1 43 -1460 -303.0 303.0
626 650 44 V+1 *9 -450 -132.0 132.0| 443 457 6y O+1 +K -1460 -303.0 303.0
423 422 3N O +2 v5 -460 -133.0 133.0| 454 426 6y O+1 43 -1460 -303.0 303.0
434 446 3N O +2 v3 -460 -133.0 133.0| 460 436 6y O+1 2 -1460 -303.0 303.0
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443 457 3N O +2 v3 -460 -133.0 133.0| 525 551 6v V+1 + K -1460 -303.0 303.0
460 436 3N O +2 a7 -460 -133.0 133.0| 527 549 6v O +1 v3 -1460 -303.0 303.0
527 549 3N O +2 »A -460 -133.0 133.0| 532 544 6v O+1 3 -1460 -303.0 303.0
531 545 3N O +2 v2 -460 -133.0 133.0| 535 537 6v V+1 +K -1460 -303.0 303.0
532 544 3N O +2 A -460 -133.0 133.0| 548 528 6v O +1 ¢+ K -1460 -303.0 303.0
535 537 3N O +2 v3 -460 -133.0 133.0| 550 526 6v O+1 3 -1460 -303.0 303.0
554 522 3N O +2 v3 -460 -133.0 133.0| 622 654 6v V+1 &7 -1460 -303.0 303.0
558 557 3N O +2 v2 -460 -133.0 133.0| 623 653 6v O +1 42 -1460 -303.0 303.0
560 536 3N O +2 a7 -460 -133.0 133.0| 624 652 6v V+1 &K -1460 -303.0 303.0
622 654 3N O +2 43 -460 -133.0 133.0| 628 648 6v O +1 43 -1460 -303.0 303.0
634 636 3N O +2 v2 -460 -133.0 133.0| 634 636 6v V+1 43 -1460 -303.0 303.0
644 632 3NV +2 LN -460 -133.0 133.0| 637 633 6v V+1 &K -1460 -303.0 303.0
651 625 3NV +2 +J -460 -133.0 133.0| 434 446 7v O= 43 -2210 -715.0 715.0
655 621 3N O +2 a7 -460 -133.0 133.0| 450 430 7v O= v8 -2210 -715.0 715.0
623 653 3N O +3 v3 -490 -173.0 173.0| 659 656 7v V= &K -2210 -715.0 715.0
629 647 1a4DS-2 ¢ A -500 -184.0 184.0 - 459 13.1
523 553 3NRDV +1 *9 -1000 -605.0 605.0 | 444 456 A+/A+ 78.0 78.0
- 459 131 649 627 A+/A+ 78.0 78.0
33 «D10 Basta kontrakt 34 4 K76 Basta kontrakt
Nord v D62 5& N =400 Ost vKn973 5¢ O =-450
Ingen ¢ DKn87 NS +8
#D852 & ¢ v & NT #KKn1032 & ¢ v & NT
4« E95432 #Kn876 N 117 9 5 7 «D853 4Kn9 N7 2153
v10 v K9874 S 117 9 5 7 vED542 vK10 S71151
496542 +K3 026 482 ¢+ K74 + ED10653 O5 11117 10
*6 *K3 V14481 &5 *E96 vV 5 11117 10
+K 4 E1042
v EKn53 v 86
¢+ E10 ¢ Kn92
&#EKNn10974 D874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
658 624 6& S = s A 920 605.0 -605.0 [ 443 458 5¢ O-1 &7 50 496.0 -496.0
455 427 54D S = vT 550 327.0 -327.0| 451 431 5¢ O-1 s A 50 496.0 -496.0
443 458 3NN +4 v8 520 294.0 -294.0( 647 635 64 O-1 2 50 496.0 -496.0
428 454 54DV -3 *3 500 276.0 -276.0 625 657 3¢ O+2 &8 -150 331.0 -331.0
549 529 54DV -3 *6 500 276.0 -276.0( 436 446 5¢ O= 4 A -400 47.0 -47.0
530 548 3NN+3 v4 490 270.0 -270.0( 525 553 5¢ O= &4 -400 47.0 -47.0
543 535 4v N +2 +Q 480 251.0 -251.0( 660 644 5¢ V= 46 -400 47.0 -47.0
429 453 3NN +2 +K 460 230.0 -230.0 | 429 453 4v V= *J -420 2.0 -2.0
522 556 3N S +2 2 460 230.0 -230.0 [ 424 423 3NO +1 &7 -430 2.0 -2.0
555 523 3NN +2 ¢+ K 460 230.0 -230.0 [ 428 454 3N O +1 &7 -430 2.0 -2.0
424 423 5% S = vT 400 160.0 -160.0 [ 435 447 3NV +1 LN -430 2.0 -2.0
425 422 3NN-= a7 400 160.0 -160.0 [ 449 433 3NO+1 &4 -430 2.0 -2.0
426 421 5& S = vT 400 160.0 -160.0 [ 455 427 3N O +1 &7 -430 2.0 -2.0
430 452 54 S-= vT 400 160.0 -160.0 [ 521 557 3NO+1 @2 -430 2.0 -2.0
434 448 5# N = a7 400 160.0 -160.0 [ 530 548 3NO+1 &7 -430 2.0 -2.0
435 447 5& S = s A 400 160.0 -160.0 [ 531 547 3NO+1 &7 -430 2.0 -2.0
449 433 5% S = 2 400 160.0 -160.0 [ 532 546 3NO +1 &7 -430 2.0 -2.0
451 431 3NN= 3 400 160.0 -160.0 [ 533 545 3NO+1 &4 -430 2.0 -2.0
536 538 5& S = vT 400 160.0 -160.0 [ 536 538 3NO +1 *6 -430 2.0 -2.0
551 527 5& S = vT 400 160.0 -160.0( 543 535 3NO+1 &7 -430 2.0 -2.0
560 537 5& S = s A 400 160.0 -160.0 [ 544 534 3NO+1 &7 -430 2.0 -2.0
622 621 5& S = s A 400 160.0 -160.0 [ 559 558 3N O +1 &4 -430 2.0 -2.0
625 657 5% S = s A 400 160.0 -160.0( 622 621 3NO +1 &7 -430 2.0 -2.0
629 653 5& S = vT 400 160.0 -160.0 [ 623 659 3N O +1 a4 -430 2.0 -2.0
637 645 5& S = vT 400 160.0 -160.0( 626 656 3NV +1 *J -430 2.0 -2.0
646 636 5% S = vT 400 160.0 -160.0 [ 627 655 3NO +1 &7 -430 2.0 -2.0
647 635 5& S = 2 400 160.0 -160.0( 631 651 3NO+1 &7 -430 2.0 -2.0
432 450 44D O -2 A 300 38.0 -38.0| 633 649 3NO+1 &7 -430 2.0 -2.0
445 456 44DV -2 *0Q 300 38.0 -38.0| 634 648 3NV +1 &4 -430 2.0 -2.0
533 545 44DV -2 +Q 300 38.0 -38.0| 637 645 3NO+1 &7 -430 2.0 -2.0
559 558 44DV -2 +Q 300 38.0 -38.0| 646 636 3NO +1 &7 -430 2.0 -2.0
634 648 44DV -2 +Q 300 38.0 -38.0| 654 628 3NO +1 &7 -430 2.0 -2.0
436 446 44 V-3 &5 150 -126.0 126.0| 658 624 3NO+1 &7 -430 2.0 -2.0
524 554 4# S +1 vT 150 -126.0 126.0 | 444 457 4v V+1 LN -450 -48.0 48.0
526 552 44 S +1 L} 150 -126.0 126.0| 425 422 3NO+2 v8 -460 -48.0 48.0
626 656 44 S +1 vT 150 -126.0 126.0| 434 448 3NO+2 3 -460 -48.0 48.0
633 649 44 S +1 vT 150 -126.0 126.0| 522 556 3N O +2 a5 -460 -48.0 48.0
525 553 44DV-1 v2 100 -183.0 183.0| 555 523 3NV +2 LN -460 -48.0 48.0
654 628 4e V-2 &5 100 -183.0 183.0| 432 450 4v O +2 v6 -480 -91.0 91.0
532 546 44 O-1 A 50 -238.0 238.0| 426 421 3N O +3 v8 -490 -96.0 96.0
623 659 34 V-1 »2 50 -238.0 238.0| 430 452 3NO +3 *3 -490 -96.0 96.0
627 655 5& S-1 & A -50 -339.0 339.0| 438 459 3N O +3 &4 -490 -96.0 96.0
652 630 5&#S-1 vT -50 -339.0 339.0| 445 456 3N O +3 &4 -490 -96.0 96.0
528 550 3NS-2 46 -100 -394.0 394.0( 524 554 3NO+3 v6 -490 -96.0 96.0
531 547 4y N-2 46 -100 -394.0 3940 549 529 3N O +3 &4 -490 -96.0 96.0
632 650 5& S -2 s A -100 -394.0 394.0| 551 527 3NO+3 &7 -490 -96.0 96.0
660 644 3NS-2 3 -100 -394.0 3940 629 653 3NO +3 &7 -490 -96.0 96.0
438 459 3e V= +Q -140 -424.0 4240( 632 650 3NO +3 v8 -490 -96.0 96.0
444 457 3e V= *2 -140 -424.0 4240 652 630 3N O +3 &7 -490 -96.0 96.0
544 534 2v O +1 &A -140 -424.0 4240 ( 560 537 3NDO +1 &7 -650 -287.0 287.0
631 651 34 O= &K -140 -424.0 4240 526 552 3#DN-3 vK -800 -434.0 434.0
521 557 44 N- a7 -200 -477.0 477.0 460 - -26.3
460 - -26.3 528 550 A+/A+ 78.0 78.0
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35 « D7 Basta kontrakt 36 4 D102 Basta kontrakt
Syd vED93 3v V =-140 Vast vKD105 24 V =-110
(6)) ¢ EKKn Alla ¢ Kn43
#9763 & ¢ v & NT #Kn102 & ¢ v o NT
4« Knl1054 & EK6 N7 8 467 & KKn7  E983 N7 7 457
v K52 vKn10874 S78467 v EKN963 v 742 S77557
¢ 8765 2 065976 +5 + 10762 06 58 86
&E4 #DKn85 V659786 #ED96 *75 V65886
#9832 4 654
v6 v8
¢+ D10943 ¢ EKD98
#K102 #K843
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
445 457 3y O -2 49 200 223.0 -223.0 427 422 3NN= v3 600 597.0 -597.0
532 548 INN+3 v4 180 215.0 -215.0| 436 448 3vDV-2 +3 500 547.0 -547.0
433 451 1NN +2 v] 150 170.0 -170.0 | 445 457 34 O-2 ¢A 200 292.0 -292.0
436 448 INN+1 vJ 120 128.0 -128.0( 526 554 3vyDV-1 »2 200 292.0 -292.0
446 456 1NN +1 v4 120 128.0 -128.0( 556 524 3v V-2 +3 200 292.0 -292.0
450 434 INN+1 v] 120 128.0 -128.0( 622 658 4v V-2 *J 200 292.0 -292.0
544 536 INN+1 v4 120 128.0 -128.0( 631 649 2vyDV-1 a4 200 292.0 -292.0
556 524 INN+1 vlJ 120 128.0 -128.0( 636 644 2v V-2 +3 200 292.0 -292.0
625 655 INN+1 v] 120 128.0 -128.0( 645 635 4v V-2 LN 200 292.0 -292.0
630 650 INN+1 vlJ 120 128.0 -128.0( 657 623 3vDV-1 +3 200 292.0 -292.0
651 629 INN +1 vlJ 120 128.0 -128.0( 630 650 INN +2 v2 150 237.0 -237.0
425 424 2v V-1 ¢ A 100 86.0 -86.0| 421 428 1NN +1 v2 120 215.0 -215.0
522 558 3v O-1 +5 100 86.0 -86.0| 430 454 INN+1 v3 120 215.0 -215.0
550 530 4v V-1 +3 100 86.0 -86.0| 522 558 INN +1 v2 120 215.0 -215.0
628 652 3v O-1 3 100 86.0 -86.0| 529 551 2¢ S+1 +5 110 195.0 -195.0
636 644 34 V-1 ¢ A 100 86.0 -86.0| 431 453 INV-1 vK 100 182.0 -182.0
427 422 INN= v] 90 85.0 -85.0| 444 458 3v V-1 *4 100 182.0 -182.0
429 455 INN= va 90 85.0 -85.0 446 456 3v V-1 +J 100 182.0 -182.0
431 453 INN= v7 90 85.0 -85.0| 523 557 3v V-1 +J 100 182.0 -182.0
443 459 INN= v9 90 85.0 -85.0( 550 530 3v V-1 +3 100 182.0 -182.0
444 458 1NN = v] 90 85.0 -85.0 624 656 3v O-1 *J 100 182.0 -182.0
527 553 INN-= v4 90 85.0 -85.0| 537 543 INN= v2 90 177.0 -177.0
529 551 INN= v] 90 85.0 -85.0| 660 637 INN= v2 90 177.0 -177.0
531 549 INN= v] 90 85.0 -85.0( 521 559 3NN-1 v7 -100 -33.0 33.0
533 547 INN= v4 90 85.0 -85.0| 525 555 3¢ S-1 +5 -100 -33.0 33.0
537 543 INN= v] 90 85.0 -85.0| 532 548 3¢ S-1 +5 -100 -33.0 33.0
560 538 INN-= v7 90 85.0 -85.0( 544 536 3NN-1 v2 -100 -33.0 33.0
621 659 INN-= vJ] 90 85.0 -85.0| 633 647 3NN-1 v7 -100 -33.0 33.0
624 656 INN-= v3 90 85.0 -85.0| 653 627 3¢ S-1 42 -100 -33.0 33.0
626 654 INN= v] 90 85.0 -85.0 429 455 2v V= +J -110 -34.0 34.0
632 648 INN-= vJ] 90 85.0 -85.0| 531 549 2v V= +3 -110 -34.0 34.0
633 647 INN-= v] 90 85.0 -85.0 533 547 2v V= +3 -110 -34.0 34.0
645 635 INN= v4 90 85.0 -85.0| 534 546 24 O= ¢ A -110 -34.0 34.0
646 634 INN-= v8 90 85.0 -85.0| 552 528 24 O= ¢ A -110 -34.0 34.0
653 627 INN-= v4 90 85.0 -85.0| 632 648 1lv V+1 *J -110 -34.0 34.0
660 637 INN-= v4 90 85.0 -85.0| 426 423 2v V+1 +3 -140 -74.0 74.0
426 423 2N N-1 vJ] -50 -103.0 103.0| 527 553 2v V+1 +3 -140 -74.0 74.0
435 449 3¢ N-1 v] -50 -103.0 103.0| 621 659 2v V+1 +3 -140 -74.0 74.0
545 535 3¢ N-1 oK -50 -103.0 103.0| 625 655 2v V+1 +3 -140 -74.0 74.0
452 432 24D N-1 s A -100 -168.0 168.0| 626 654 3v V= +J -140 -74.0 74.0
460 438 4¢ S-2 vK -100 -168.0 168.0| 425 424 3vy V+1 +3 -170 -114.0 114.0
534 546 2v O= 3 -110 -168.0 168.0| 435 449 2v V+2 a2 -170 -114.0 114.0
552 528 2v O= 43 -110 -168.0 168.0| 628 652 2v V+2 L) -170 -114.0 114.0
421 428 2v V +1 ¢ A -140 -211.0 211.0| 452 432 4¢DS-2 v3 -500 -393.0 393.0
430 454 2v O +1 2 -140 -211.0 211.0| 450 434 2vyDV= vK -670 -506.0 506.0
523 557 3v V= ¢ A -140 -211.0 211.0| 460 438 2vyDV= +J -670 -506.0 506.0
526 554 2v V+1 *2 -140 -211.0 211.0| 545 535 24DV= a2 -670 -506.0 506.0
622 658 2v O +1 +3 -140 -211.0 211.0| 651 629 2vyDV= a2 -670 -506.0 506.0
631 649 2v O +1 *4 -140 -211.0 211.0| 560 538 2vyDV +1 ¢4 -870 -603.0 603.0
657 623 3v O= +3 -140 -211.0 211.0| 646 634 2vyDV +1 a2 -870 -603.0 603.0
525 555 2vDO= +3 -670 -620.0 620.0| 433 451 3vyDV +1 +3 -930 -633.0 633.0
521 559 2vyDV +1 ¢ A -870 -684.0 684.0 | 443 459 3vyDV +1 a2 -930 -633.0 633.0
- 447 -81.3 - 447 -81.3
37 ~E6 Basta kontrakt 38 4 Kn65 Basta kontrakt
Nord v KKn84 INTN =90 Ost vK 64 S D -2-300
NS 46432 oV ¢ EK98742
D63 & ¢ v & NT D10 & ¢ v & NT
4 Kn74 #1052 N67 777 ~ E87  KD109432 N 105 8 2 3
v 632 vE1097 S67776 v D92 v E63 S 105 8 2 3
+ KD5 ¢ E97 O7 6 656 + DKn653 ¢ 10 O3 7 3 1110
#Kn1097 &E52 V76656 »E8 #Kn5 vV 37 3 1110
« KD983 @-
vD5 vKn108754
¢+ Kn108 .-
K84 #K976432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
636 652 1IND O -2 &K 300 296.0 -296.0( 649 645 54D S= s A 550 644.0 -644.0
434 452 INN+3 v3 180 171.0 -171.0( 534 548 64D O -2 vJ] 500 629.0 -629.0
430 421 INN+2 a2 150 125.0 -125.0 | 434 452 54D O-1 v2 200 452.0 -452.0
526 556 INN +2 a2 150 125.0 -125.0( 526 556 54D O -1 vJ] 200 452.0 -452.0
628 621 INN +2 v7 150 125.0 -125.0( 532 550 54 O-2 *2 200 452.0 -452.0
635 653 INN +2 v9 150 125.0 -125.0| 533 549 64DO-1 vJ 200 452.0 -452.0
657 631 INN+2 v9 150 125.0 -125.0( 646 648 54D O-1 vJ] 200 452.0 -452.0
660 647 INN +2 v9 150 125.0 -125.0( 422 429 54 O-1 &4 100 374.0 -374.0
444 459 1NN +1 v9 120 83.0 -83.0| 660 647 54 O-1 v4 100 374.0 -374.0
445 458 INN +1 v9 120 83.0 -83.0| 436 450 5# S-1 A -50 252.0 -252.0
446 457 INN+1 v9 120 83.0 -83.0| 557 525 5v S-1 4 A -50 252.0 -252.0
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528 554 1NN +1 vT 120 83.0 -83.0| 637 651 6% S-1 aA -50 252.0 -252.0
532 550 INN +1 v9 120 83.0 -83.0| 522 521 5vDS-1 aA -100 196.0 -196.0
625 624 INN+1 a2 120 83.0 -83.0| 523 559 6% S-2 s A -100 196.0 -196.0
637 651 INN+1 v7 120 83.0 -83.0| 528 554 5vDS-1 aA -100 196.0 -196.0
522 521 24 S= &5 110 69.0 -69.0| 538 544 54D S-1 aA -100 196.0 -196.0
560 543 14 S+1 v2 110 69.0 -69.0( 546 536 54D S-1 &A -100 196.0 -196.0
649 645 14 S+1 &J 110 69.0 -69.0| 622 627 5v S-2 &A -100 196.0 -196.0
432 454 INO-2 &K 100 49.0 -49.0| 634 654 54DS-1 a2 -100 196.0 -196.0
460 443 2v O-2 &K 100 49.0 -49.0| 635 653 5#S-2 +Q -100 196.0 -196.0
533 549 34 0-2 *J 100 49.0 -49.0| 650 644 34 O= vJ -140 160.0 -160.0
630 658 1INV -2 aA 100 49.0 -49.0( 530 552 6% S-3 aA -150 152.0 -152.0
646 648 INDV -1 s A 100 49.0 -49.0( 629 659 34 O+1 vJ -170 135.0 -135.0
427 424 INN= 43 90 35.0 -35.0| 628 621 5¢ N-5 &K -250 60.0 -60.0
436 450 INN= a2 90 35.0 -35.0| 426 425 5¢ N-6 &K -300 5.0 -5.0
447 456 INN = v9 90 35.0 -35.0( 430 421 5¢ N-6 &K -300 5.0 -5.0
451 435 INN= *J 90 35.0 -35.0| 432 454 64D S -2 &A -300 5.0 -5.0
546 536 INN= v9 90 35.0 -35.0| 445 458 64D S -2 aA -300 5.0 -5.0
551 531 INN= *7 90 35.0 -35.0| 446 457 64D S -2 s A -300 5.0 -5.0
655 633 INN-= *7 90 35.0 -35.0| 453 433 6#DS-2 aA -300 5.0 -5.0
431 455 2v O-1 *J 50 -21.0 21.0| 460 443 6vyDS-2 aA -300 5.0 -5.0
453 433 24 0-1 *J 50 -21.0 21.0| 625 624 64D S-2 s A -300 5.0 -5.0
527 555 INO-1 48 50 -21.0 21.0| 630 658 64D N -2 &K -300 5.0 -5.0
530 552 2#V-1 aA 50 -21.0 21.0| 451 435 7#DN-3 aA -500 -170.0 170.0
534 548 2v O-1 +J 50 -21.0 210 626 623 54D S-3 s A -500 -170.0 170.0
538 544 1INV-1 v4 50 -21.0 21.0( 428 423 44 O= vJ -620 -277.0 277.0
553 529 1INV-1 aA 50 -21.0 21.0| 427 424 44 O+1 &3 -650 -296.0 296.0
557 525 2v V-1 +3 50 -21.0 21.0| 431 455 44 O+1 vJ -650 -296.0 296.0
629 659 24 0-1 &K 50 -21.0 210 524 558 44 O+1 va -650 -296.0 296.0
650 644 INO-1 a5 50 -21.0 21.0| 535 547 54 O= vJ -650 -296.0 296.0
422 429 INV= v8 -90 -202.0 202.0| 655 633 54 O= vJ -650 -296.0 296.0
426 425 INO= *J -90 -202.0 202.0| 657 631 54 O= v5 -650 -296.0 296.0
428 423 24 S-1 +2 -100 -209.0 209.0 | 444 459 44 O +2 vJ -680 -323.0 323.0
438 448 24 S-1 +K -100 -209.0 209.0 | 447 456 44 O +2 vJ -680 -323.0 323.0
523 559 24 S-1 &J -100 -209.0 209.0| 545 537 54 O+1 vJ -680 -323.0 323.0
524 558 2¢ S-1 &J -100 -209.0 209.0| 551 531 5vDS-5 aA -1100 -569.0 569.0
535 547 2¢ S-1 v6 -100 -209.0 209.0| 560 543 5vDS-5 aA -1100 -569.0 569.0
545 537 2¢ S-1 v3 -100 -209.0 209.0| 636 652 5¢DN-5 &K -1100 -569.0 569.0
622 627 24 S-1 &J -100 -209.0 209.0| 438 448 44D O +2 &3 -1190 -601.0 601.0
626 623 2N N-1 v7 -100 -209.0 209.0| 527 555 5¢DN-6 &K -1400 -700.0 700.0
634 654 24 S-1 &J -100 -209.0 209.0| 553 529 6¢DN-7 &K -1700 -787.0 787.0
- 449 -6.2 - 449 -6.2
632 656 A-/A+ -78.0 78.0| 632 656 A-IA+ -78.0 78.0
39 « ED6 Basta kontrakt 40 493 Basta kontrakt
Syd vE6 64 S =1430 Vast v D105 ANT N =430
Alla ¢ Kn9532 Ingen ¢+ E104
*K74 & ¢ v & NT #Kn10874 & ¢ v & NT
4Kn753 48 N 128 5 129 «4DKn65 &E742 N 116 107 10
v8732 v DKnl1054 S 128 5 129 v74 v Kn986 S 116 107 10
+ D64 + K1087 014711 +D98762 ¢ K5 027 36 2
#Kn8 #E96 Vi4711 *9 #D52 V27362
« K10942 4 K108
v K9 v EK32
¢ E ¢ Kn3
#D10532 &EKG63
Par Kontr ut Res Poang Par Kontr ut Res Poang
524 521 44 S+2 a5 680 118.0 118.0| 628 656 4¢DV-3 &J 500 315.0 -315.0
429 424 44 S+1 v3 650 70.0 -70.0| 460 444 3NN +2 v6 460 274.0 -274.0
433 455 44 S+1 v3 650 70.0 -70.0| 534 550 3N S +2 +9 460 274.0 -274.0
438 450 44 S+1 v3 650 70.0 -70.0| 535 549 3NS+2 *2 460 274.0 -274.0
445 459 44 S+1 v3 650 70.0 -70.0| 623 622 3NN +2 v8 460 274.0 -274.0
446 458 44 S+1 &J 650 70.0 -70.0| 433 455 3NN+1 *+ K 430 230.0 -230.0
447 457 44 S+1 v3 650 70.0 -70.0| 446 458 3NN +1 v8 430 230.0 -230.0
448 456 44 S+1 &J 650 70.0 -70.0| 454 434 3NN+1 *+ K 430 230.0 -230.0
452 436 44 S+1 v3 650 70.0 -70.0| 523 522 3NS+1 v7 430 230.0 -230.0
460 444 44 S+1 &J 650 70.0 -70.0| 524 521 3NN+1 v8 430 230.0 -230.0
525 559 44 S+1 v2 650 70.0 -70.0| 528 556 3NN +1 +K 430 230.0 -230.0
527 557 44 S+1 v3 650 70.0 -70.0| 531 553 3NN+1 v8 430 230.0 -230.0
528 556 44 S+1 v3 650 70.0 -70.0| 546 538 3NN +1 a2 430 230.0 -230.0
529 555 44 S+1 v8 650 70.0 -70.0| 633 651 3NN+1 v6 430 230.0 -230.0
531 553 44 S+1 v8 650 70.0 -70.0| 443 449 4y S= &9 420 229.0 -229.0
533 551 44 S+1 v3 650 70.0 -70.0| 660 645 4y S= &9 420 229.0 -229.0
535 549 44 S+1 v8 650 70.0 -70.0| 431 422 3NS= +6 400 199.0 -199.0
543 545 44 S+1 L X} 650 70.0 -70.0| 533 551 3NS= +6 400 199.0 -199.0
552 532 44 S+1 &J 650 70.0 -70.0| 536 548 3NS= a5 400 199.0 -199.0
623 622 44 S+1 v3 650 70.0 -70.0| 554 530 3NS= 4Q 400 199.0 -199.0
624 621 44 S+1 v3 650 70.0 -70.0| 630 654 3NN= * K 400 199.0 -199.0
632 652 44 S+1 v3 650 70.0 -70.0| 635 649 3NS= *4 400 199.0 -199.0
633 651 54 S= v3 650 70.0 -70.0| 644 646 3NS= +6 400 199.0 -199.0
634 650 44 S+1 L X} 650 70.0 -70.0| 648 636 3NN= *+ K 400 199.0 -199.0
635 649 44 S+1 *4 650 70.0 -70.0| 653 631 3NN= *+ K 400 199.0 -199.0
647 637 44 S+1 &J 650 70.0 -70.0| 560 544 3¢DV-2 49 300 78.0 -78.0
655 629 44 S+1 &J 650 70.0 -70.0| 624 621 2NN +2 v3 180 -58.0 58.0
659 625 44 S+1 v3 650 70.0 -70.0| 445 459 3v S+1 &9 170 -64.0 64.0
660 645 54 S= v3 650 70.0 -70.0| 529 555 3v S+1 &9 170 -64.0 64.0
443 449 3N S+1 v2 630 20.0 -20.0| 447 457 INS+2 +6 150 -96.0 96.0
423 430 44 S= v8 620 20.0 -20.0| 527 557 2NN +1 +K 150 -96.0 96.0
431 422 44 S= v3 620 20.0 -20.0| 627 657 44 N+1 ¢+ K 150 -96.0 96.0
432 421 44 S= *4 620 20.0 -20.0| 647 637 INS+2 +6 150 -96.0 96.0
435 453 44 S= *4 620 20.0 -20.0| 655 629 INS+2 *7 150 -96.0 96.0
523 522 44 S= +4 620 20.0 -20.0| 423 430 3 N+1 &2 130 -122.0 122.0
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534 550 44 S= v3 620 20.0 -20.0 | 427 426 34 S+1 +3 130 -122.0 122.0
536 548 44 S= v6 620 20.0 -20.0| 448 456 3# N +1 ¢+ K 130 -122.0 122.0
546 538 44 S= v6 620 20.0 -20.0| 525 559 34 S+1 *7 130 -122.0 122.0
547 537 44 S= *J 620 20.0 -20.0| 547 537 34 S+1 46 130 -122.0 122.0
558 526 44 S= v3 620 20.0 -20.0| 428 425 4v S-1 *9 -50 -318.0 318.0
560 544 44 S= v4 620 20.0 -20.0| 429 424 5 N-1 s A -50 -318.0 318.0
626 658 44 S= v8 620 20.0 -20.0| 432 421 3NS-1 +6 -50 -318.0 318.0
627 657 44 S= v3 620 20.0 -20.0| 435 453 3NN-1 43 -50 -318.0 318.0
628 656 44 S= v3 620 20.0 -20.0| 452 436 5# S-1 +Q -50 -318.0 318.0
630 654 44 S= v2 620 20.0 -20.0| 543 545 3NS-1 +6 -50 -318.0 318.0
644 646 44 S= v3 620 20.0 -20.0| 558 526 3NS-1 v7 -50 -318.0 318.0
648 636 44 S= v3 620 20.0 -20.0| 626 658 44 N-1 ¢+ K -50 -318.0 318.0
653 631 44 S= v3 620 20.0 -20.0| 552 532 INS-2 +6 -100 -376.0 376.0
427 426 3NS-1 v3 -100 -599.0 599.0| 659 625 3NS-2 +6 -100 -376.0 376.0
428 425 3NS-1 v3 -100 -599.0 599.0| 438 450 44 N-3 v8 -150 -412.0 412.0
454 434 64 S -2 ¢+4 -200 -630.0 630.0 632 652 3NN-3 a2 -150 -412.0 412.0
554 530 64 S-2 v8 -200 -630.0 630.0| 634 650 3NS-3 *7 -150 -412.0 412.0
- 451 53.7 - 451 53.7
41 474 Basta kontrakt 42 « K94 Basta kontrakt
Nord v DKn954 5¢ N D-2-300 Ost v 872 4v S =620
oV + DKn107 Alla 410975
£92 & ¢ v &N #DKn5 & ¢ v &N
« DKn98 » EK62 N397 23 « EKn87 46532 N 9 10108 9
v 108 v K732 S39723 v1064 vKn53 S 9 10108 9
2 +53 O 102 5 105 ¢ EKn + 863 043353
#KD10854 &EKn7 V 102 5 105 #E1087 %942 V43353
#1053 « D10
vE6 v EKD9
+ EK9864 ¢+ KD42
#63 K63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
654 632 5¢DS= vT 550 651.0 -651.0( 524 523 3NS+1 a7 630 457.0 -457.0
444 450 2¢D N +3 &K 480 631.0 -631.0( 544 546 3NS+1 v6 630 457.0 -457.0
430 425 3NO-4 ¢ A 400 572.0 -572.0( 631 655 3NN+1 v3 630 457.0 -457.0
635 651 3NO-3 ¢ A 300 534.0 -534.0 433 422 3NN-= v3 600 429.0 -429.0
559 527 2v N +2 4 A 170 437.0 -437.0( 553 533 3NN-= @3 600 429.0 -429.0
535 551 3¢ N+2 s A 150 431.0 -431.0( 555 531 3NS= 8 600 429.0 -429.0
455 435 2¢ N +2 +3 130 417.0 -417.0( 624 623 3NN-= 46 600 429.0 -429.0
553 533 5#V-1 +Q 100 392.0 -392.0( 633 653 3NN-= @3 600 429.0 -429.0
621 626 5& V-1 +Q 100 392.0 -392.0( 645 647 3NS= *8 600 429.0 -429.0
625 622 54 V-1 ¢ Q 100 392.0 -392.0( 654 632 3NS= &7 600 429.0 -429.0
645 647 54 V-1 vQ 100 392.0 -392.0( 434 421 INDV-2 *Q 500 355.0 -355.0
648 644 54 0-1 ¢ A 100 392.0 -392.0( 529 557 24 O- vA 300 157.0 -157.0
433 422 3v S-1 2 -50 274.0 -274.0 | 532 554 24 V-3 vK 300 157.0 -157.0
660 646 4¢ S-1 &K -50 274.0 -2740( 649 637 34 O-3 vK 300 157.0 -157.0
536 550 5¢DS-1 «Q -100 226.0 -226.0( 432 423 INS+3 8 180 25.0 -25.0
436 454 44V = +Q -130 208.0 -208.0 [ 446 459 2N S +2 v4 180 25.0 -25.0
446 459 3&V +1 +Q -130 208.0 -208.0 ( 428 427 1v S+3 ¢ A 170 9.0 -9.0
447 458 4V = +Q -130 208.0 -208.0( 424 431 2NS+1 8 150 -23.0 23.0
525 522 44V = ¢+ Q -130 208.0 -208.0 [ 429 426 INS+2 &8 150 -23.0 23.0
438 452 5¢DN-2 s A -300 34.0 -34.0| 448 457 2N S+1 8 150 -23.0 23.0
524 523 5¢DS-2 &K -300 34.0 -34.0| 526 521 2NN +1 3 150 -23.0 23.0
528 558 5¢DS-2 &K -300 34.0 -34.0| 534 552 2NS+1 &8 150 -23.0 23.0
529 557 5¢DS-2 «Q -300 34.0 -34.0| 635 651 INS+2 a7 150 -23.0 23.0
532 554 5¢DS-2 &K -300 34.0 -34.0| 656 630 INS+2 *8 150 -23.0 23.0
547 543 5¢DS-2 +Q -300 34.0 -34.0| 660 646 1INS+2 v4 150 -23.0 23.0
627 659 5¢DS-2 &K -300 34.0 -34.0| 436 454 3¢ S+1 ¢+ A 130 -51.0 51.0
634 652 4vDN-2 & A -300 34.0 -34.0| 444 450 3¢ S+1 8 130 -51.0 51.0
448 457 64D S-3 &K -500 -165.0 165.0| 525 522 3¢ S+1 ¢ A 130 -51.0 51.0
548 538 5# 0= vA -600 -245.0 245.0| 536 550 3¢ S+1 s A 130 -51.0 51.0
429 426 4e V= vQ -620 -279.0 279.0| 634 652 3¢ S+1 v4 130 -51.0 51.0
537 549 44 O= v2 -620 -279.0 279.0| 449 456 2NN = 43 120 -54.0 54.0
560 545 44 V= ¢+ Q -620 -279.0 279.0| 548 538 INS+1 &7 120 -54.0 54.0
628 658 4e V= +Q -620 -279.0 279.0| 559 527 INN+1 46 120 -54.0 54.0
424 431 4e V +1 ¢+ Q -650 -315.0 315.0| 627 659 2NS= 48 120 -54.0 54.0
428 427 44 O +1 ¢ A -650 -315.0 315.0| 628 658 INS+1 »8 120 -54.0 54.0
432 423 4e V +1 +Q -650 -315.0 315.0| 455 435 2¢ S+1 & A 110 -73.0 73.0
434 421 4e V +1 ¢+ Q -650 -315.0 315.0| 530 556 3¢ S= A 110 -73.0 73.0
443 451 44 O+1 ¢ A -650 -315.0 315.0| 547 543 24 S= v4 90 -98.0 98.0
449 456 4e O +1 ¢+ K -650 -315.0 315.0| 430 425 3NS-1 8 -100 -300.0 300.0
460 445 54 O = ¢ A -650 -315.0 315.0| 438 452 3NS-1 48 -100 -300.0 300.0
526 521 4e V+1 a4 -650 -315.0 315.0| 443 451 3NS-1 »8 -100 -300.0 300.0
530 556 4e V+1 ¢+ Q -650 -315.0 315.0| 447 458 3NN-1 3 -100 -300.0 300.0
534 552 44 O +1 ¢ A -650 -315.0 315.0| 460 445 3NN-1 46 -100 -300.0 300.0
544 546 44 O +1 ¢ A -650 -315.0 315.0| 528 558 3NS-1 v6 -100 -300.0 300.0
555 531 44 O+1 ¢ A -650 -315.0 315.0| 537 549 3NN-1 a2 -100 -300.0 300.0
624 623 44 O +1 ¢ A -650 -315.0 315.0| 560 545 3NS-1 &8 -100 -300.0 300.0
629 657 4e V+1 vQ -650 -315.0 3150 621 626 3NN-1 46 -100 -300.0 300.0
631 655 44 O+1 ¢ A -650 -315.0 315.0| 625 622 3NS-1 8 -100 -300.0 300.0
633 653 4e V+1 ¢+ Q -650 -315.0 315.0| 629 657 3NS-1 &8 -100 -300.0 300.0
636 650 54 V= ¢+ Q -650 -315.0 315.0| 636 650 3NS-1 @2 -100 -300.0 300.0
649 637 44 O+1 ¢+ K -650 -315.0 315.0| 648 644 3NS-1 *2 -100 -300.0 300.0
656 630 54 V= ¢+ Q -650 -315.0 315.0| 535 551 3NS-2 v4 -200 -406.0 406.0
453 - -31.0 453 - -31.0
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